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      INSTRUCTIONS TO CANDIDATE 

 

Read the following instructions carefully before you begin to attempt the questions 

(1) This booklet contains 100 questions in all comprising the following three parts.  

• Part-(I)   : English Language / (or) Hindi Language   (30 Questions) 

• Part-(II)  : Quantitative Aptitude      (35 Questions) 

• Part-(III) : Reasoning Aptitude       (35 Questions) 

(2) All the questions are compulsory and carry equal marks. 

(3) Before you start to attempt the questions you must explore this booklet and ensure that it contains all the pages and 

 find that no page is missing or replaced. If you find any flaw in this booklet, you must get it replaced immediately. 

(4) Each question carries negative marking also as 0.25 mark will be deducted for each wrong answer.  

(5) You will be supplied the Answer-sheet separately by the invigilator. You must complete the details of Name, Roll 

 number, Test name/Id and name of the examination on the Answer-Sheet carefully before you actually start attempting 

 the questions. You must also put your signature on the Answer-Sheet at the prescribed place. These instructions must 

 be fully complied with, failing which, your Answer-Sheet will not be evaluated and you will be awarded ‘ZERO’ mark. 

(6) Answer must be shown by completely blackening the corresponding circles on the Answer-Sheet against the relevant 

 question number by pencil or Black/Blue ball pen only. 

(7) A machine will read the coded information in the OMR Answer-Sheet. In case the information is incompletely/ different 

 from the information given in the application form, the candidature of such candidate will be treated as cancelled. 

(8) The Answer-Sheet must be handed over to the Invigilator before you leave the Examination Hall.  

(9) Failure to comply with any of the above Instructions will make a candidate liable to such action/penalty as may be 

 deemed fit. 

(10) Answer the questions as quickly and as carefully as you can. Some questions may be difficult and others easy. Do not 

 spend too much time on any question. 

(11) Mobile phones and wireless communication device are completely banned in the examination halls/rooms. Candidates 

 are advised not to keep mobile phones/any other wireless communication devices with them even switching it off, in 

 their own interest. Failing to comply with this provision will be considered as using unfair means in the examination  and 

 action will be taken against them including cancellation of their candidature. 

(12) No rough work is to be done on the Answer-Sheet. 

(13) No candidate can leave the examination hall before completion of the exam. 
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English Language 

Direction (1-10):  In a passage given below there are 10 
blanks, each followed by a word given in bold. Even 
blank has four alternative words given in options (a), 
(b), (c) and (d). You have to choose which word will 
best suit to the respective blank. Choose (5) as your 
answer if the word given in the bold after the blank is 
your answer i.e   "No change requires". 
 
_(1)_[Joint]_relations between India and Maldives 
are on the brink once again as the deadline for India 
to _(2)_[extract]_its two helicopters has passed and 
the issue of visas for thousands of Indian job-seekers 
remains unresolved. 
The visas of more than 26 Indian Navy personnel 
operating the Advanced Light Helicopter (ALH) were 
valid till June 30. However, Maldives has refused to 
_(3)_[lengthen]_their visas and has already asked 
India to take back the two ALHs. “The Navy personnel 
are in Maldives awaiting further instructions,” a 
defence official said. 
The two helicopters were gifted by India in 2013 and 
one was _(4)_[activated]_by the Indian Coast Guard 
and the other by the Indian Navy. The validity for the 
Coast Guard helicopter had expired earlier this year 
but the helicopter still remains there. End of May, the 
visas of Navy personnel were extended by one month 
after _(5)_[participation]_of External Affairs Minister 
Sushma Swaraj. 
Maldives Ambassador to India Ahmed Mohamed said 
there had been no news on whether the issue over 
the helicopters had been resolved, adding that the 
matter was being handled “directly in Male.” 
“What I know is that the helicopters were supposed to 
be taken back by 30th [to India].” Maldives officials 
also declined to comment and said the issue 
_(6)_[are]_being dealt with by the Ministry of 
Defence. 
Hundreds of Indians say their jobs may be on the 
_(7)_[row]_as tensions between the two countries 
continue. 
It is reported on June 14 about an estimated 2,000 
Indian applicants who have been offered jobs in the 
Maldives, but have not received work permits since 
February. According to dozens of such applicants, 
most employers have informed them that “Indian work 
visas” are not being _(8)_[furnished]_at present, and 
some have sent letters with deadlines of July 1, after 
which they would fill their positions. Maldives sources 
_(9)_[announced]_that they had received several 
complaints about difficulties faced by Indians in 
obtaining Maldivian work permits and the matter was 
bein _(10)_[quested]_officially. 

 
1.  (1) shared  (2) common 

(3) bilateral  (4) collective 
(5) No change required 

2.  (1) validity  (2) withdra 
(3) issue   (4) permits 
(5) No change required 

3.  (1) had   (2) might 
(3) have   (4) was 
(5) No change required 

4.  (1) cord   (2) string 
(3) line   (4) yarn 
(5) No change required 

5.  (1) circulated  (2) distributed 
(3) supplied  (4) issued 
(5) No change required 

6.  (1) expand  (2) widen 
(3)  enlarge  (4) extend 
(5) No change required 

 
7.  (1) operated  (2) managed 

(3) driven  (4) controlled 
(5) No change required 

 
8.  (1) interruption  (2)  incursion 

(3) intervention  (4) negotiation 
(5) No change required 

 
9.  (1) admitted  (2) unveiled 

(3) stated  (4)  declared 
(5) No change required 

 
10.    (1) investigated  (2)  explored 

(3)  searched  (4) pursued 
(5) No change required 

 
Direction (11-20): Read the following passage carefully and 

answer the questions given below it. 
 
From the beginning of the 19th century, the British 
East India Company's gradual expansion and 
consolidation of power brought a major change in 
taxation and agricultural policies, which tended to 
promote commercialization of agriculture with a focus 
on trade, resulting in decreased production of food 
crops, mass impoverishment and destitution of 
farmers, and in the short term, led to numerous 
famines. The economic policies of the British Raj 
caused a severe decline in the handicrafts and 
handloom sectors, due to reduced demand and 
dipping employment. After the removal of 
international restrictions by the Charter of 1813, 
Indian trade expanded substantially with steady 
growth. The result was a significant transfer of capital 
from India to England, which, due to the colonial 
policies of the British, led to a massive drain of 
revenue rather than any systematic effort at 
modernization of the domestic economy. Under 
British rule, India's share of the world economy 
declined from 24.4% in 1700 down to 4.2% in 1950. 
India's GDP (PPP) per capita was stagnant during the 
Mughal Empire and began to decline prior to the 
onset of British rule. India's share of global industrial 
output declined from 25% in 1750 down to 2% in 
1900. At the same time, the United Kingdom's share 
of the world economy rose from 2.9% in 1700 up to 
9% in 1870. The British East India Company, 
following their conquest of Bengal in 1757, had forced 
open the large Indian market to British goods, which 
could be sold in India without tariffs or duties, 
compared to local Indian producers who were heavily 
taxed, while in Britain protectionist policies such as 
bans and high tariffs were implemented to restrict 
Indian textiles from being sold there, whereas raw 
cotton was imported from India without tariffs to 
British factories which manufactured textiles from 
Indian cotton and sold them back to the Indian 
market. British economic policies gave them a 
monopoly over India's large market and cotton 
resources. India served as both a significant supplier 
of raw goods to British manufacturers and a large 
captive market for British manufactured goods. 
British territorial expansion in India throughout the 
19th century created an institutional environment that, 
on paper, guaranteed property rights among the 
colonizers, encouraged free trade, and created a 
single currency with fixed exchange rates, 
standardized weights and measures and capital 
markets within the company-held territories. It also 
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established a system of railways and telegraphs, a 
civil service that aimed to be free from political 
interference, a common-law and an adversarial legal 
system. This coincided with major changes in the 
world economy – industrialization, and significant 
growth in production and trade. However, at the end 
of colonial rule, India inherited an economy that was 
one of the poorest in the developing world, with 
industrial development stalled, agriculture unable to 
feed a rapidly growing population, a largely illiterate 
and unskilled labour force, and extremely inadequate 
infrastructure. The 1872 census revealed that 91.3% 
of the population of the region constituting present-
day India resided in villages. This was a decline from 
the earlier Mughal era, when 85% of the population 
resided in villages and 15% in urban centers under 
Akbar's reign in 1600. Urbanization generally 
remained sluggish in British India until the 1920s, 
due to the lack of industrialization and absence of 
adequate transportation. Subsequently, the policy of 
discriminating protection (where certain important 
industries were given financial protection by the 
state), coupled with the Second World War, saw the 
development and dispersal of industries, encouraging 
rural–urban migration, and in particular the large port 
cities of Bombay, Calcutta and Madras grew rapidly. 
Despite this, only one-sixth of India's population lived 
in cities by 1951. The impact of British rule on India's 
economy is a controversial topic. Leaders of the 
Indian independence movement and economic 
historians have blamed colonial rule for the dismal 
state of India's economy in its aftermath and argued 
that financial strength required for industrial 
development in Britain was derived from the wealth 
taken from India. At the same time, right-wing 
historians have countered that India's low economic 
performance was due to various sectors being in a 
state of growth and decline due to changes brought in 
by colonialism and a world that was moving towards 
industrialization and economic integration 
Several economic historians have argued that real 
wage decline occurred in the early 19th century, or 
possibly beginning in the very late 18th century, 
largely as a result of British imperialism. Economic 
historian Prasannan Parthasarathi presented 
earnings data which showed real wages and living 
standards in 18th century Bengal and Mysore being 
higher than in Britain, which in turn had the highest 
living standards in Europe. Mysore's average per-
capita income was five times higher than subsistence 
level, i.e. five times higher than $400 (1990 
international dollars), or $2,000 per capita. In 
comparison, the highest national per-capita incomes 
in 1820 were $1,838 for the Netherlands and $1,706 
for Britain.(117) It has also been argued that India 
went through a period of deindustrialization in the 
latter half of the 18th century as an indirect outcome 
of the collapse of the Mughal Empire. 
Indian economic policy after independence was 
influenced by the colonial experience, which was 
seen as exploitative by Indian leaders exposed to 
British social democracy and the planned economy of 
the Soviet Union. Domestic policy tended towards 
protectionism, with a strong emphasis on import 
substitution industrialization, economic 
interventionism, a large government-run public sector, 
business regulation, and central planning, while trade 
and foreign investment policies were relatively liberal 
Five-Year Plans of India resembled central planning 
in the Soviet Union. Steel, mining, machine tools, 
telecommunications, insurance, and power plants, 
among other industries, were effectively nationalized 
in the mid-1950s. 

11. According to the passage what did the economic 
policies of the British Raj cause? 
(1) Commercialization of agriculture 
(2) Decreased production 
(3) A severe decline in the handicrafts and handloom 
sectors 
(4) Gradual expansion of the British Raj 
(5) Transfer of capital 

 
12.  According to the passage what was India’s share of 

the world economy in 1950? 
(1) 24.4%  (2) 2.9% 
(3) 9%   (4) 4.2% 
(5) 2% 

 
13.  According to the passage what was the cause for the 

slow moving of urbanization until 1920s? 
(A) industrialization and adequate transportation 
(2) lack of industrialization and absence of adequate 
transportation. 
(3) rural population moved to the cities 
(4) there was an urgent need for transportation 
(5) All the above 

 
14.  Choose the word which as same meaning as the 

word “impoverishment” printed in bold as used in 
the passage. 
(1) Rich   (2) Wealthy 
(3) Misery  (4) Improved 
(5) None of these 

 
15.  Choose the word which is most nearly the same in 

meaning as the word “sluggish” printed in bold as 
used in the passage. 
(1) Rapid  (2) Developed 
(3) Speedy  (4) Indolent 
(5) None of these 

 
16.  Choose the word which is most opposite in meaning 

of the word “captive” printed in bold as used in the 
passage. 
(1) Free   (2) Confined 
(3) Detained  (4) None of these 
(5) All the above 

 
17.  According to the passage what were the sectors 

nationalized in mid-1950s? 
(A) Business regulation and central planning 
(B) Steel, mining, machine tools, telecommunications, 
insurance, and power plants 
(3) Agriculture  
(4) Handicrafts and handloom sectors 
(5) All the above 

 
18.  Which of the following statements is true in the 

context of the passage? 
(1) At the end of colonial rule, India inherited an 
economy that was one of the richest in the developing 
world  
(2) Raw cotton was exported to India without tariffs 
(3) The 1872 census revealed that 91.3% of the 
population resided in cities. 
(4) Urbanization generally remained sluggish in 
British India until the 1920s 
(5) All are true 

 
19.  Find the incorrect statement on the basis of the given 

passage. 
(1) India served as a large captive market for British 
manufactured goods. 
(2) India served as a significant supplier of raw goods 
to British manufacturers 
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(3) The British East India Company, had forced open 
the large Indian market to British goods. 
(4) It also established a system of a civil service that 
aimed not to be free from political interference. 
(5) None of the above 

 
20.  Choose the word which is opposite in meaning of the 

word “coincided” printed in bold as used in the 
passage. 
(1) Match  (2) Diverge 
(3) Agree  (4) Go along with 
(5) None of these 

 
Directions (21- 25): Rearrange the following sentences (a), 

(b), (c), (d), (e), (f), and (g) in the proper sequence to 
form a meaningful paragraph, then answer the 
questions given below them.    
(a) How can we address the aspirations of a billion 
people with such varying set of capabilities and 
abilities?  
(b) This is not to say that the child in the remote area 
must not be cared for.  
(c) However, we must be practical about how we do it 
(d) The standard refrain from successive regimes is 
to deliver a one-size-fits-all solution. 
(e) India has 400 million people below the poverty line 
and another 600 million in the lower middle class and 
aspirant poor.  
(f) Thus, we try to teach a child from a remote area 
complex biology, chemistry, physics, 
and  mathematics and try to equate that child with 
one in an urban set up.  
(g) We must innovate ways to find, nurture, and 
develop the Abdul Kalams of the future from such 
remote areas.  
(h) Such a large number spread across different 
states each with a different language, tradition, and 
practice does seem daunting. 

 
21.  Which of the following would be the FIFTH statement 

after rearrangement? 
(1) c   (2) e   
(3) g    (4) d   
(5) f 

 
22.  Which of the following would be the SECOND 

statement after rearrangement?  
 (1) a   (2) h   

(3) b   (4) e   
(5) g 

 
23.  Which of the following would be the EIGHTH  

statement after rearrangement? 
(1) d   (2) b   
(3) h   (4) c   
(5) f 

 
24.  Which of the following would be the FOURTH  

statement after rearrangement? 
(1) e   (2) a   
(3) b   (4) d   
(5) c 

 
25.  Which of the following would be the FIRST statement 

after rearrangement? 
(1) f   (2) e   
(3) h   (4) g   
(5) b  

 
Directions (26-30): In each of the question below, there is a 

word given in bold which is followed by the five 
options. In each of the option, a pair of words is given 
which is either the pair of synonyms or antonyms or 

synonym & antonym of the word given in bold-that 
pair of words is as answer. 

 
26 Augur 

(1) Evaluate- estimate (2) Envision- visualize 
(3) Emulsion - suspension (4) Afflict - worry 
(5) Herald- portend 

 
27. Unequivocal 

(1) Clear- untidy  (2) Promotion- detention 
(3) Obvious- obscure (4) Coincides- commercial 
(5) Viable- stable 

 
28.  Benign 

(1) Submissive-support (2) Benevolent - malignant 
(3) Cruel- begin  (4) Prepare- start 
(5) Handsome- lovable 

 
29. Mandate 

(1) Voice- invoice  (2) Assume - guess 
(3) Place- position (4) Order - directive 
(5) Malpractice – misconduct 

 
30. Tweak 

(1) Pull – refrain  (2) Speed-quick 
(3) Slow- small  (4) Engine- automatic 

 (5) Mean- malicious 

HINDI 

funZs”k (1-5) fuEufyf[kr x|ka”k dks i<+dj ml ij vk/kkfjr iz”uksa ds 

mRrj nsaA 

 

 le; cgwr ewY;oku gS le; fdlh ds fy, :drk ugha gSa 

lalkj esa og O;fDr lQyrk izkIr djrk gS tks le; dk 

lgh mi;ksx djrk  

 gSA fo|kfFkZ;ksa dk xg̀ dk;Z fn;k tkrk gSA dqN fo|kFkhZ 

fuR; dk dk;Z iwjk dj ysrs gSaA dqN vkjke ls vkSj vxys 

fnu djrs  gSaA dqN 

 viuk le; csdkj dh ckrsa cukus esa fcrkrs gSaA xg̀ dk;Z ij 

/;ku ugha nsrsA bldk ifj.kke gksr gS fd os f”k{kk esaa fiNM+ 

tkrs gSaA 

 ijh{kk esa mÙkh.k ugha gks ikrsA fuR; viuk dke iwjk djus 

okys mÙrh.kZ gksrs gSaA vr% le; ds lnqi;ksx dk egRo 

le>ksa vkSj le; dk 

 lgh mi;ksx djks lQyrk rqEgkjs dne pwesxhA  

 
1. dkSu fdlh ds fy, ugha :drk\   

 (1) jk’Vªifr  (2) le;  

 (3) iz/kkuea=h  (4) Kku  

 (5) xq: 

 
2. le; dks csdkj fcrkus dk D;k urhtk gksrk gSa\ 

 (1) vius dk;Z esa vlQyrk  (2) vkjke feyrk gS  

 (3) lQyrk fuf”pr gS  (4) Hkfo’; ds fy, ijs”kkuh  

 (5) buesa ls dksbZ ugha 

 
3. le; ij dke iwjk djus okys fo|kFkhZ D;k ikrs gSa\ 

 (1) vlQyrk  (2) lQyrk   

 (3) Kku    (4) vuq”kklu 

 (5) buesa ls dksbZ ugha  

 
4. le; dks ewY;oku D;ksa ekuk tkrk gS\  

 (1) le; dh thou esa mi;ksfxrk ds dkj.k   

 (2) lQyrk dk vk/kkj gksus ds dkj.k    

(3) mi;qZDr nksuksa   

 (4) Hkfo’; ds fy, 

 (5) buesa ls dksbZ ugha 
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5. x|ka”k dk lokZf/kd mi;qZDr “kh’kZd pqfu,&  

 (1) le; dk lnqi;ksx (2) le; dk egRo 

 (3) le; lQyrk dk vk/kkj (4) le; vkSj lQyrk  

 (5) buesa ls dksbZ ugha 

 

funZs”k (6-10) uhps fn, x, iz”uksa ds ikap oSdfYid mRrj fn, x, 

gSaA buesa ls lgh mRrj dk pquko dhft,& 

 

6. ^^y{e.k ,d dq”ky dk;ZdrkZ gS×× esa fo”ks’k.k gS&  

 (1) y{e.k  (2) dk;ZdrkZ  

 (3) dq”ky  (4) mi;qZDr lHkh  

 (5) buesa ls dksbZ ugha 

 
7. fgUnh Hkk’kk dh fyfi gS& 

 (1) izkdr̀  (2) nsoukxjh  

 (3) ikyh   (4) laLd`r 

 (5) buesa ls dksbZ ugha 

 

8. ^fuokZflr× “kCn esa fuEfyf[kr esa dkSu&lk izR;; gSa\ 

 (1) br   (2) flr  

 (3) bd   (4) bZr 

 (5) buesa ls dksbZ ugha 

 
9. fuEu esa ls dkSu&lk o.kZ rkyO; vkSj ukflD; gS\ 

 (1) ^¥×   (2) ^{k×  

 (3) ^N×   (4) ^’k× 

 (5) p 

 

10. fuEu esa ls ^:<+× “kCn dkSu&lk gS\ 

 (1) yacksnj  (2) ?kqM+lky  

 (3) nw/kokyk  (4) yksVk 

 (5) fo|ky; 

 

funsZ”k (11-13) uhps izR;sd iz”u esa fn, x, fodYiksa esa ls rRle 

“kCn dk p;u dhft,% 

 
11. (1) xqaykc  (2) xasnk  

 (3) iq’i   (4) Qwy 

 (5) pk¡n 

 
12. (1) vJq   (2) jsfM;ksa  

(3) ixM+h  (4) dku 

 (5) vk¡[k 

 
13. (1) vke   (2) vkst   

 (3) diwj   (4) galh 

 (5) buesa ls dksbZ ugha 

 

funsZ”k (14-16) fuEufyf[kr izR;sd okD; ds fy, mlds uhps fn, x, 

fodYiksa esa lsa mlds izdkj dks fpfgar dhft,%  

 
14. eSus dgk dqN vkSj] mlus lquk dqN vkSjA  

 (1) ljy  okD;  (2) la;qDr okD;  

 (3) feJ okD;  (4) lk/kkj.k okD; 

 (5) buesa ls dksbZ ugha 

 
15. O;ogkj esa og fcYdqy oSlk gh gS tSls mlds firkthA 

 (1) ljy okD;  (2) la;qDr okD;  

 (3) feJ okD;  (4) lk/kkj.k okD;  

 (5) buesa ls dksbZ ugha 

 
 
 

16. lRlax djks] lnkpkjh cuksA 

 (1) bPNkokpd  (2) vkKkokpd 

 (3) fof/kokpd  (4) ladsrokpd 

 (5) iz”uokpd 

 
funsZ”k (17-19) uhps dqN “kCn fn, x, gSA izR;sd dh orZuh ds fy, 

pkj fodYi fn, x, gSA buesa ls ,d fodYi esa “kCn dh 

“kq) orZuh nh xbZ gSA vkidks ml “kq) orZuh dk p;u 

djuk gS 

 
17. (1) vkdlfed  (2) vkdfLed  

 (3) vkdflfed  (4) vkdLed 

 (5) vkdkfLed 

 
18. (1) HkxhjFkh  (2) HkxhjFkh  

 (3) HkkfxfjFkh  (4) HkkxhjFkh 

 (5) HkfxjFkh 

 
19. (1) Øh;”khy  (2) Øh;k”khy  

 (3) dk;Z”khy  (4) Ø;”khy 

 (5) fØ;k”khy 

 

funsZ”k (20-22) fuEufyf[kr “kCnksa ds pkj&pkj laf/k&foPNsn fn, x, 

gSaA lgh fodYi p;u djsa\ 

 
20. egksnf/k 

 (1) egks$mn~f/k  (2) egks$nf/k  

 (3) egk$mnf/k  (4) egk$nf/k 

 (5) egk%$nf/k  

 
21. o/;kxeu 

 (1) o/k$vkxeu  (2) ow/k$vkxeu  

 (3) o/kq$vkxeu  (4) o/kw$vkxeu 

 (5) o/kq$vxeu 

 

22. ^fgeky;× esa fdl laf/k dk iz;ksx gqvk gS\ 

 (1) xq.k Loj laf/k  (2) ;.k~ Loj laf/k 

 (3) nh?kZ Loj laf/k  (4) folxZ laf/k 

 (5) O;atu laf/k 

 

funsZ”k (23-25)&fuEufyf[kr izR;sd “kCn ds fy, mlds uhps fn, x, 

fodYiksa esa ls mi;qDr lekl dk p;u djsa%  

 
23. bdrhl  

 (1) rRiq:’k  (2) f}xq  

 (3) }U}   (4) deZ/kkj; 

 (5) vO;;hHkko 

 
24. l)eZ 

 (1) rRiq:’k  (2) cgqozhfg  

 (3) deZ/kkj;  (4) vO;;hHkko 

 (5) }Un 

 
25. pkSjkgk 

 (1) cgqozhfg  (2) rRiq:’k  

 (3) vO;;hHkko  (4) f}xq 

 (5) }Un 
 

funsZ”k (26-28) fuEufyf[kr “kCnksa ds vkxs ikap&ikap “kCn fn, x, 

gSaA buesa lsa mfpr i;kZ;okph pqudj fpafgr djsa%& 
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26. niZ 

 (1) frjLdkj  (2) vgadkj  

 (3) LokfHkeku  (4) xoZ 

 (5) [kq”kh 

 

27. ^?ku”;ke× dk vFkZ gS dkyk ckny] bldk nwljk vFkZ gS% 

 (1) fo’.kq   (2) ?kus ckny  

 (3) d̀’.k   (4) o’kkZ 

 (5) va/ksjk 

 

28. ^vfuy× dk i;kZ; gS% 

 (1) vuy   (2) iou  

 (3) ikol   (4) pØokr 

 (5) buesa ls dksbZ ugha 

 

funsZ”k (29-30) uhps dqN “kCn fn;s x;s gSa] izR;sd ds ikap oSdfYid 

vFkZ fn;s x;s gS] mi;qDr vFkZ dk p;u dhft;sA  

 

29. ^lqjlfj× dk vFkZ gSA 

 (1) tkgoh  (2) lqUnj jlokyh  

 (3) lqUnj lj  (4) lIr Lojokyh 

 (5) lqanj 

 

30. ^izLFkku× dk lekukFkhZ “kCn D;k gS\ 

 (1) LoLFkku  (2) fo”ks’k LFkku  

 (3) iz;k.k  (4) izek.k 

 (5) vkxeu 

Quantitative Aptitude 

Directions (31-35): What value should come in the place of 
question mark in the given questions?    

 
31.  8, 16, 34, 71, 146, ? 

(1) 271   (2) 261 
(3) None of these  (4) 251 
(5) 221 

 
32.  30, 30, 45, 90, 225, ? 

(1) 570   (2) 630 
(3) 510   (4) 675 
(5) 480 

 
33.  232     231     223    196      132      ? 

(1) 7   (2) 5  
(3) 9   (4) 11  
(5) None of these 

 
34.     22     68     160      344     ?     1448 

(1) 714   (2) 712  
(3) 717   (4) 709  
(5) None of these 

 
35.     586      442      341      278     242      ? 

(1) 224   (2) 219  
(3) 225   (4) 226  
(5) None of these 
 

Directions (36-42): What value should come in the place of 
question mark in the given questions? 

36.  2/7 of 5/6 of 3/8 of ?=790 
(1) 8848   (2) 8448 
(3) 8748   (4) 8248 
(5) None of these 

 
37.  (140%550) + (12.5%400)+(33.33%306)=? 

(1) 780   (2) 922 
(3) 824   (4) 775 

(5) None of these 
 
38.  √5929+√3364+√4761=? 

(1) 204   (2) 224 
(3) 254   (4) 234 
(5) None of these 

 
39.  ?/10 of √676=130/? of √64 

(1) 30   (2) 20 
(3) 18   (4) 40 
(5) None of these 

 
40.  (762÷3)×(120%80)+2116=? 

(1) 24500  (2) 26500 
(3) 23800  (4) 27850 
(5) None of these 

 
41. 4898-6234+5325-1294=? 

(1) 2595   (2) 2495 
(3) 2965   (4) 2695 
(5) None of these 

 
42.  (20%280)+(√729×9)+123 = ? 

(1) 332   (2) 542 
(3) 324   (4) 422 
(5) None of these 

 
Directions (43–47) : Study the following table carefully and 
 answer the questions based on it. 
 Slum population as percent of total population in 2011 
 

  
 
43.  What was total slum population in the year 2011 of 

city D and city E together? 
(1) 26 lakh  (2) 27.88 lakh 
(3) 28.45 lakh  (4) 29.2 lakh 
(5) None of these 

 
44.  The city with the highest slum population in year 2011 

was – 
(1) C   (2) B   
(3) D   (4) A 
(5) None of these 

 
45.  What was the total slum population in the year 2011 

of city A (approximately)? 
(1) 31 lakh  (2) 35 lakh 
(3) 32 lakh  (4) 34 lakh 
(5) None of these 

 
46.  The difference in the slum population of city G and 

city F in the year 2011 was – 
(1) 1.40 lakh  (2) 1.70 lakh  
(3) 1.50 lakh  (4) 2.31 lakh 
(5) None of these 

 
47.  The slum population of city B in year 2011 was 

(approximately) – 
(1) 24.5 lakh  (2) 25.5 lakh 
(3) 25.1 lakh  (4) 27.5 lakh 
(5) None of these 

 
Directions (48-52): What approximate value should come in 

the place of question mark in the given questions? 
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48.  32.123×41.98×23.9=? 
(1) 32256  (2) 39623 
(3) 32983  (4) 38526 
(5) 31256 

 
49.  (9/3)+ (5/27) + (3/243) + (7/9)=? 

(1) 2   (2) 5 
(3) 4   (4) 1 
(5) 7 

 
50.  353.02×1.93-242.34+(565/5)+130.923=? 

(1) 729   (2) 753 
(3) 708   (4) 792 
(5) 630 

 
51. (16.6%of 1296)-(10.8%of 898)=? 

(1) 149   (2) 122 
(3) 115   (4) 106 
(5) 132 

 
52.  34.867-15.975-8.1491-1.543=? 

(1) 12   (2) 9 
(3) 15   (4) 18 
(5) 21 

 
53.  The probability of selection of 3 students in a school 

is 2/5, 5/6 and 4/7 respectively. Find the probability 
that at least one of them get selected. 
(1) 17/70  (2) 24/55 
(3) 23/55  (4) 67/70 
(5) 11/24 

 
54.  Ratio of Prabhu, Sasi and Gokul’s salary is 5:6:7, 

while ratio of Prabhu, Sasi and Gokul’s saving is 
3:3:2. If Prabhu’s expenditure is 25% of his salary, 
then find Gokul’s expenditure is what percent of his 
salary? 
(1) 23.28%  (2) 82.28%                     
(3) 16.28%  (4) 64.28% 
(5) 84.28% 

 
55.  In a group of 80 male and 5 female, each male got 

pen that are 15% of the total number of male and 
each female got pen that are 20% of the total number 
of male. How many pens were there? 
(1) 1453   (2) 1234 
(3) 1040   (4) 1012 
(5) None of these 

 
56.  The speed of boat in still water is 8km/hr. A man can 

row his boat against the current at 4km/hr. what is the 
speed of downstream? 
(1) 8km/hr  (2) 12km/hr 
(3) 16km/hr  (4) 2km/hr 
(5) None of these 

 
57.  The ages of Sam and Sudha are in the ratio of 4:5. 

After 12 years the ratio of their ages will be 7:8. What 
is the difference in their ages? 
(1) 5 years  (2) 4 years 
(3) 6 years  (4) 8 years 
(5) None of these 

 
Directions (58-62): Each question contains a statement 

followed by Quantity I and Quantity II. Read the 
contents clearly and answer your questions 
accordingly. 
(a) Quantity I > Quantity II 
(b) Quantity I ≥ Quantity II 
(c) Quantity II > Quantity I 
(d) Quantity II ≥ Quantity I 
(e) Quantity I = Quantity II or Relation cannot be 
established 

58.  Quantity I: If some amount becomes 16 times in 6 
years. Find rate of interest? 
Quantity II: What is the simple interest at the ends of 
2 years on a sum of Rs.1250 at 10% per annum? 
(1) a   (2) b 
(3) c   (4) d 
(5) e 

 
59.  Quantity I: A sells to B a desk at 10% profit, B sells it 

to C for 25% profit. If C pays Rs.550 for it what is the 
price at which A bought the desk? 
Quantity II: Esai sells mobile at a loss of 12%. If he 
had sold it at a profit of 18%, he would have earned 
Rs.90. What is the cost price of the chair? 
(1) a   (2) b 
(3) c   (4) d 
(5) e 

 
60.  Quantity I: How many kg of rice costing Rs.20/kg 

must be mixed 12 kg of rice costing Rs.6/kg, so that 
the resultant mixture costs 8/kg? 
Quantity II: There is a 90L solution of water and milk 
in which milk forms 88%. How much water must be 
added to this solution to make it a solution in which 
milk forms 72%? 
(1) a   (2) b 
(3) c   (4) d 
(5) e 

 
61.  Quantity I: 14 men can complete a piece of work in 6 

days. In how many days can 42 men complete the 
same piece of work? 
Quantity II: 70 women can do a piece of work in 30 
days. How many women would be required to do the 
same work in 50 days? 
(1) a   (2) b 
(3) c   (4) d 
(5) e 

 
62.  Quantity I: The product of two consecutive odd 

numbers is 7743. Which is the greater of the two 
numbers? 
Quantity II: Two numbers are less than the third 
number by 25% and 27% respectively. By how much 
percent is the second number less than the first 
number? 
(1) a   (2) b 
(3) c   (4) d 
(5) e 

 
63.  A, B and C start a business each investing Rs.13000. 

After 6 months B withdrew Rs.8000, C withdrew 
Rs.3000 and A added Rs.7000 more. At the ends of 
one year the total profit of Rs.148000 was recorded. 
Find the share of each? 
(1) 66000, 36000, 46000 (2) 34000, 17000, 23000 
(3) 18000, 23000, 33000 (4) 17000, 34000, 23000 
(5) None of these 

 
64.  If three coins are tossed together, then find the 

probability that all coins have the same face. 
(1) 2/5   (2) 1/3 
(3) 3/4   (4) 1/5 
(5) 1/4 

 
65.  Marked price of an article is 50% more than the cost 

price. If the shopkeeper gives discount of 10% and 
cost price of that article is Rs 100 and he sale his 40 
articles, then find the profit earned by him. 
(1) Rs 943  (2) Rs 1464 
(3) Rs 1400  (4) Rs 862 
(5) Rs 1214 
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Reasoning Aptitude 

Directions (66-70): Read the following information carefully 
and answer the questions given below. 

Ten persons are sitting in twelve seats in two parallel 
rows containing five people each, in such a way that 
there is an equal distance between adjacent persons. 
In row 1, Philip, Peter, Alex, Adam & John are seated 
and all of them are facing south, and in row 2, 
Mathew, Smith, Davis, Paul & Max are sitting and all 
them are facing north. One seat is vacant in each 
row. Therefore, in the given seating arrangement 
each member seated in a row faces another member 
of the other row. All of them like different birds i.e. 
Eagle, King fisher, Peacock, Crane, Parrot, Macaw, 
Sparrow, Owl, Penguin & Hen. 
Davis sits third to the right of Max and likes Macaw. 
Only two people sit between vacant seat and the one 
who likes Eagle. John likes Owl. The one who likes 
Crane faces the one who likes Peacock. Neither Paul 
nor Mathew sits at an extreme end. John faces 
Mathew.  Vacant seats are not opposite to each other 
as well not at any extreme ends. Two seats are 
between Philip & John, who sits fourth to the right of 
the one who likes Parrot. The one who likes Hen 
faces the one, who likes Sparrow. The person who 
likes Crane and Owl are adjacent to each other. 
Vacant seat in row 1 is not an immediate neighbour of 
Philip.. Three seats are between Mathew & Davis. 
Vacant seat of row 1 does not face Paul also does not 
sit at any of the extreme ends. Adam likes Hen. The 
one who likes Eagle faces the one who likes Owl. 

 
66.  Who sits diagonally opposite to the one, who likes 

Parrot? 
(1) Davis  (2) Peter 
(3) Mathew  (4) Smith 
(5) None of the above 

 
67.  Which of the following statement is true regarding 

Penguin; If the person who likes Penguin sits in row 
1? 
(1) The one who likes Penguin sits third to the left of 
Peter  
(2) The one who likes Penguin is not an immediate 
neighbour Hen 
(3) The one who likes Penguin sits to the immediate 
right of the one who likes Parrot 
(4) The one who likes Penguin sits at one of the 
extreme end of the line. 
(5) The one who likes Penguin faces the one who 
likes Eagle. 
 

68.  Who sits second to the right of the one, who faces the 
Vacant seat of Row 2? 
(1) Peter        (2) John 
(3) Adam  (4) Alex 
(5) None of the these 

 
69.  Which of the following bird does Smith Likes? 

(1) Crane      (2) Owl 
(3) Peacock  (4) Sparrow 
(5) Hen 

 
70.  Parrot is related to Hen of row 1 in the same way 

Mathew is related Paul. So, following the same 
pattern vacant seat of row 2 is related to which of the 
following? 
(1) Max   (2) Davis 
(3) Paul   (4) Mathew 
(5) None of the these 

 

71.  If ‘Norway’ means ‘÷’,’Sudan’ means ‘+’, ‘Russia’ 
means ‘-‘  and  ‘Israel’ means ‘×’  then 
800 Norway 400 Russia 50 Israel 90 Sudan 1200 = ? 
(1) 3298    (2) -3298   
(3) 3241    (4) -3241   
(5) None of these 

 
72.  If the digits of the number 4567291023453 are 

arranged in descending order, how many digit’s 
position will be changed after rearrangement? 
(1) One     (2) Five     
(3) Two     (4) Three     
(5) None of these 

 
73.  In a certain code language AFGHANISTAN is written 

as MZGHRMZSTUZ and BAHRAIN is written 
as MRZISZY then how will CAMEROON be written in 
that code  

 (1) MXZNLLIV  (2) MLLVZNXI   
 (3) MLILVNZX  (4) MLLIVNZX 

(5) None of these 
 
74.  If all the letters in the word AHMEDABAD are 

rearranged according to the English alphabetical 
order then the position of how many letters will be 
changed after the rearrangement? 

  (1) Four     (2) Two   
(3) One     (4) Three   
(5) None of these 

 
75.  How many English meaningful words can be formed 

with the letters R, A, L, E  using each letter only once 
in each word? 
(1) None    (2) One   
(3) Two     (4) Three   
(5) More than three 

 
Directions (76-79) In the following questions the symbols @, 

#, $, % and © are used with the following meanings 
as illustrated below: 
“C@D” means ‘C is not greater than D’ 
“C#D” means ‘C is neither smaller than nor equal to 
D’ 
“C$D” means ‘C is not smaller than D’ 
“C%D” means ‘C is neither greater than nor equal to 
D’ 
“C©D” means ‘C is neither smaller than nor greater 
than D’. 
Now in each of the following questions, assuming the 
given statements to be true, find which of the two 
conclusions I and II given below them is/are definitely 
true and give your answer. 

 
76.  Statements: A © B @ D % E @ G $ H; F % A; G © J 

Conclusions: I. F % E  II. J # B 
(1) Only conclusion I is true.  
(2) Both conclusion I and II are true. 
(3) Only conclusion II is true.  
(4) Either conclusion I or II is true. 
(5) Neither conclusion I nor II is true.   

 
77.  Statements: P # Q @ R % S © T # W $ I;  K © S @ L 

Conclusions: I. Q # W  II. R % L 
(1) Only conclusion I is true.  
(2) Both conclusion I and II are true. 
(3) Only conclusion II is true.  
(4) Either conclusion I or II is true. 
(5) Neither conclusion I nor II is true.  

 
78.  Statements: A © B @ D % E @ G $ H; F % A; G © J 

Conclusions: I. A # B  II. D © J 
(1) Only conclusion I is true.  
(2) Both conclusion I and II are true. 
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(3) Only conclusion II is true.  
(4) Either conclusion I or II is true. 
(5) Neither conclusion I nor II is true.  

 
79.  Statements: X @ Y © Z % U;    Z @ V 

Conclusions: I. V # X  II. V © X 
(1) Only conclusion I is true.  
(2) Both conclusion I and II are true. 
(3) Only conclusion II is true.  
(4) Either conclusion I or II is true. 
(5) Neither conclusion I nor II is true.  

 
Direction (80-84): Study the following information carefully 

and answer the questions given below. 
 
There are seven persons M, P, Q, R, S, T and V are 
in different weights but not necessary in the same 
order. 
Only one person is between P and Q, who is lighter 
than M. There are only two persons are between S 
and M. S is not the heaviest person. As many 
persons are heavier than R is same as lighter than T. 
P is heavier than only two persons. S is heavier than 
both R and V. The second heaviest person is 88 kg 
and S’s weight is 54 kg. 

 
80.  How many persons are in between R and T? 

(1) One   (2) Three 
(3) Four   (4) Two 
(5) Cannot be determined 

 
81.  If the weight of T is 2 times of R, then what will be the 

difference between the weights of R and S? 
(1) 22 kg   (2) 10 kg 
(3) 15 kg   (4) 32 kg 
(5) None of these 

 
82.  How many persons are heavier than Q? 

(1) None   (2) One 
(3) Two   (4) Three 
(5) Four 

 
83. What will be the possible weight of V (in kg)? 

(1) 49   (2) 58 
(3) 62   (4) 45 
(5) 51 

 
84.  Who among the following is the heaviest person? 

(1) R   (2) V 
(3) M   (4) T 
(5) Q 

 
Directions (85-87): In each of the questions below are given 

two/three statements followed by two conclusions 
numbered I and II. You have to take the given 
statements to be true even if they seem to be at 
variance with commonly known facts. Read all the 
conclusions and then decide which of the given 
conclusions logically follows from the given 
statements, disregarding commonly known facts. 
Give answer 
(a) If only conclusion I follows. 
(b) If only conclusion II follows. 
(c) If either conclusion I or conclusion II follows. 
(d) If neither conclusion I nor conclusion II follows. 
(e) If both conclusion I and conclusion II follow. 

 
85.  Statements: All birds are animals. 

No birds is a human. 
Some human are mammals. 
Conclusions: i. Some mammals are not birds 
ii. All human are animals 
(1) a   (2) b 

(3) c   (4) d 
(5) e 

 
86.  Statements: All paint are brush. 

No brush is a colour. All wall are colour. 
Conclusions: i. Some paint can be wall 
ii. No colour is paint 
(1) a   (2) b 
(3) c   (4) d 
(5) e 

 
87.  Statements: Some flowers are fruits. 

No fruits are seeds. All seeds are plants. 
Conclusions: i. No plants is flowers 
ii. All plants being fruits is a possibility 
(1) a   (2) b 
(3) c   (4) d 
(5) e 

 
Direction (88-90): Study the following information carefully 

and answer the questions given below. 

There are eight persons in the family with three 
married couples in the three different generations. K 
is the only daughter of P. V is the son-in-law of M. T is 
the father of G. R is the maternal grandfather of G. R 
is the father of V. M has only one child and not the 
mother of S. S is the sister-in-law of K. P is married to 
R. G is the nephew of V.   

 
88.  If ‘X’ is the daughter of S, then how is G related to X? 

(1) Cousin  (2) Nephew 
(3) Niece  (4) Brother 
(5) Sister 

 
89.  How is P related to S? 

(1) Sister  (2) Daughter-in-law 
(3) Cousin  (4) Mother-in-law 
(5) Aunty 

 
90.  How many males are there in the family? 
 (1) Four   (2) Three 
 (3) Five   (4) Six 
 (5) Cannot be determined 
 
91.  How many such pairs of letters are there in the 
 word ‘FREQUENCY’, which has as many letters 
 between them as in the English alphabetical series? 
 (1) Six   (2) Three 
 (3) Four   (4) Two 
 (5) Five 
 
92.  In the word ‘COMPLAINTS’, if all the letters in the 

word are arranged in ascending order as in the 
English alphabetical order from left to right. Then, 
how many letters in the word remains in the same 
position as in the original word? 
(1) None   (2) One 
(3) Two   (4) Three 
(5) More than three 

 
Direction (93-97): Study the following information carefully 

and answer the questions given below. 

Some people are sitting in a straight line and all of 
them are facing north. K sits fifth to the left of T. There 
are two persons sitting between T and Q. F sits eighth 
to the right of W, who is an immediate neighbour of T. 
Not more than four persons are sitting to the left of W. 
Five persons are sitting between Q and S, who sits at 
one of the extreme ends of the line. 
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93.  How many persons are sitting to the right of F? 
(1) Five   (2) One 
(3) Two   (4) Three 
(5) None of these 

 
94.  Who among the following sits at the extreme left end 

of the row? 
(1) T   (2) W 
(3) Q   (4) F 
(5) K 

 
95.  Who among the following sits 8th to the left of F? 

(1) S   (2) W 
(3) K   (4) T 
(5) Q 

 
96.  M is sitting second to the right of Q, then what will be 

the position of M with respect to F? 
(1) Second to the right (2) Second to the left 
(3) Immediate left  (4) Third to the right 
(5) Fourth to the left 

 
97.  How many persons are sitting in the row? 

(1) 14   (2) 12 
(3) 18   (4) 15 
(5) 13 

 
98.  In a class of 47 students, Anil is ranked 27 from the 

top and Mukul is ranked 35th from the bottom. Then, 
how many persons ranked between Anil and Mukul? 
(1) 14   (2) 12 
(3) 21   (4) 13 
(5) 15 

 
Direction (99-100): Study the following information carefully 

and answer the questions given below. 

Amal starts walking from point T towards north for 3 
km and reach point M. From point M he turns right 
and walking for 9 km to reach point B. Then he walks 
south for 5 km to reach point S from the point B. From 
point. She walks towards west for 7 km to reach point 
J. After that he took a left turn and walks for 6 km to 
reach point D. Finally he moves towards west for 2km 
to reach point P. 

 
99.  What is the shortest distance between the starting 

point and point P? 
(1) 7.5 km  (2) 2√2 km 
(3) 9 km   (4) 8√2 km 
(5) 8 km 

 
100.  In what direction is point D with respect to point B? 

(1) South  (2) South-west 
(3) North-east  (4) South-east 
(5) North  
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English Language 

Ans.1(3) According to the sentence “bilateral” will be used 
 as it means “two-sided”. 
Ans.2(2) According to the sentence “withdraw” will be 
 used as it means “remove / take away”. 
Ans.3(4) According to the sentence “was” will be used as 
 the sentence is based on past. 
Ans.4(3) According to the sentence “line” will be used as 
 the meaning of the phrase “on the line” is “at 
 risk”. 
Ans.5(4) According to the sentence “issued” will be used 
 as the meaning of “issue” is “hand out/ give out”. 
Ans.6(4) According to the sentence “extend” will be used 
 as it means “continue / stretch/go on”. 
Ans.7(1) According to the sentence “operated” will be 
 used as the meaning of “operate” is “function / 
 work” 
Ans.8(3) According to the sentence “intervention” will be 
 used as it means “interference”. 
Ans.9(1) According to the sentences “admitted” will be 
 used as the meaning of “admit” is “confess”. 
Ans.10(4) According to the sentence “pursued” will be 
 used as the meaning of “pursue” is “follow”. 
Ans.11(3) It is clearly mentioned in the passage that the 
 economic policies of the British Raj caused a 
 severe decline in the handicrafts and handloom 
 sectors, due to reduced demand and dipping 
 employment. 
Ans.12(4) In the passage it has been clearly mentioned 
 that under British rule, India's share of the world 
 economy declined from 24.4% in 1700 down to 
 4.2% in 1950. 
Ans.13(2) It has been clearly said that urbanization 
 generally remained sluggish in British India until 
 the 1920s, due to the lack of industrialization 
 and absence of adequate transportation. 
Ans.14(3) Meaning of the word “impoverishment” is misery 
 / insolvency / poverty 
Ans.15(4) Meaning of the word, “sluggish” lethargic / 
 indolent / slow 
Ans.16(1) Opposite meaning of the word “captive” is, free / 
 let loose / unlocked 
Ans.17(2) In the last paragraph of the passage it is clearly 
 mentioned that Steel, mining, machine tools, 
 telecommunications, insurance, and power 
 plants, among other industries, were effectively 
 nationalized in the mid-1950s 
Ans.18(4) It is clearly said in the second paragraph that 
 Urbanization generally remained sluggish in 
 British India until the 1920s due to the lack of 
 industrialization and absence of adequate 
 transportation 
Ans.19(4) It is clearly stated in the 2nd paragraph in the 
 passage that it also established a system of 
 railways and telegraphs, a civil service that 
 aimed to be free from political interference, a 
 common-law and an adversarial legal system. 
Ans.20(2) Opposite meaning of the word, “coincided” is, 
 disagree / diverge / deviate 
Ans.21(5) The arrangement is EHADFBGC 
Ans.22(2) The arrangement is EHADFBGC 
Ans.23(4) The arrangement is EHADFBGC 
Ans.24(3) The arrangement is EHADFBGC 
Ans.25(2) The arrangement is EHADFBGC 
Ans.26(5) Meaning of the word ‘augur’ is- portend / foretell/ 
 herald 
Ans.27(3) Meaning of the word unequivocal is – obvious / 
 apparent / and opposite is obscure 
Ans.28(2) The meaning of the word benign is, gentle, kind, 
 benevolent and opposite is malignant 
Ans.29(4) Meaning of the word mandate is- permission, / 
 order / directive 

Ans.30(1) Meaning of the word “ tweak” is pull, force, press 
 and the opposites –push/  refrain, 

HINDI 

Ans.1(2) le;  

Ans.2(1) vius dk;Z esa vlQyrk  

Ans.3(2) lQyrk   

Ans.4(3) mi;qZDr nksuksa   

Ans.5(1) le; dk lnqi;ksx  

Ans.6(3) fo”ks’k.k os “kCn gksrs gSa tks laKk ,oa loZuke “kCnksa dh 

fo”ks’krk crkrs gSa] tSls u;k] iqjkuk] egku~] dq”ky] prqj 

,oa tSlk vkfn “kCn fo”ks’k.k gSaA ^y{e.k ,d dq”ky 

dk;ZdÙkkZ gSA* okD; esa y{e.k ds fy, ^dq”ky* fo”kss’k.k 

dk iz;ksx gqvk gSA 

Ans.7(2) Hkko ,oa fopkjksa dh fyf[kr vfHkO;fDr ^fyfi* gksrh gSA 

Hkk’kk JO; gksrh gS tcfd fyfi n”̀; gksrh gSA fgUnh 

Hkk’kk ds fy, nsoukxjh fyfi dk iz;ksx fd;k tkrk gSA 

izkdf̀r vkSj ikyh Hkk’kk;sa gSaA 

Ans.8(1) fuokZflr “kCn ^br* izR;; ls feydj cuk gS tcfd 

^flr* dksbZ izR;; ugha gSA ^bd* izR;; ls cuus okys 

“kCn gSa& ekSfyd] nSfod] ,sfgd] ,sfgd] nSfgd ,oa 

ikf{kd vkfnA 

Ans.9(1) rkyO; o.kZ rkyq LFkku ls cksys tkrs gSa] ;s fuEu gSa& b] 

bZ] p] N] t] >] ¥] ;] “kA ukflD; o.kZ gSa& va] M] 

¥] .k] u] eA bl izdkj ls ^¥* ukflD; ,oa rkykO; 

nksuksa gSaA 

Ans.10(4) fn, x, fodYiksa esa ^yksVk* :<+ “kCn gS D;ksafd blds 

lkFkZd [kaM ugha gks ldrs gSaA ^yacksnj* ;ksx:<+ “kCn gS 

tcfd nw/kokyk ,oa ?kqMlky ;kSfxd “kCn gSaA  

Ans.11(3) ^iq’i* rRle “kCn gSA ^Qwy* rn~Hko “kCn gS bldk 

rRle ^QqYy* gksxkA xsank ,d Qwy dk uke gS] xqykc 

Qkjlh Hkk’kk dk “kCn gSA 

Ans.12(1) ^vJq* rRle “kCn gS bldk rn~Hko vk¡lw gksxkA ^dku* 

¼rn~Hko½ dk rRle d.kZ gksxka jsfM;ksa vaxzsth Hkk’kk dk 

“kCn “kCn gSA 

Ans.13(2) vke dk rRle ^vkez* gksxk ^vkst* rRle “kCn gSA 

^diwj* dk rRle ^diwZj* gksxkA 

Ans.14(2) ^eSaus dgk dqN vkSj] mlus lquk dqN vkSjA* ;g okD; 

^la;qDr okD;* dk mnkgj.k gSA 

Ans.15(3) ^O;ogkj esa og fcYdqy oSlk gh gS tSls mlds firkthA* 

okD; ^feJ okD;* gSA 

Ans.16(2) okD;] ^lrlax djksa;] lnkpkjh cuksaA* ^vkKkokpd 

okD; * gSA ftl okD;ksa ls bPNk] “kqHkdkeuk vkfn dk 

Kku gks] ^bPNkokpd okD;* gksrs gSa] tSls ^rqEgkjk 

dY;k.k* gksA 

Ans.17(2) ^vkdfLed* “kCn “kq) orZuh :i gSa] bldk vFkZ 

^;dk;d gksus okyh dksbZ ?kVuk gSA* 

Ans.18(4) ^HkkxhjFkh* “kCn “kq) :i gS] ;g “kCn ^xaxk* dk i;kZai 

gSA 

Ans.19(3) ^dk;Z”khy* “kCn “kq) orZuh :i gSA 

Ans.20(3) ^egksnf/k* xq.k lfU/k gS] bldk lfU/k foPNsN 

^egk$mnf/k* gSA 

Ans.21(2) ^o/okxeu* ;.k~ lfU/k gS] bldk lfU/k foPNsn ^o/kw 

$vkxeu* gSA 

Ans.22(3) ^fgeky;* nh?kZ Loj lfaU/k gS] bldk lfU/k foPNsn ^fge 

$ vky;* gSA 

Ans.23(3) ^bdrhl* vFkkZr~ ^,d vkSj rhl* ^}U}* lekl gSA 

Ans.24(3) ^l)eZ* vFkkZr~ lr~ gS tks /keZ] ^deZ/kkj;* lekl gSA 

Ans.25(4) ^pkSjkgk* vFkkZr~ ^pkj jkgksa dk lewg* ;gk¡ pkj 

la[;kokpd fo”ks’k.k gS] pkSjkgk ^f}xq* lekl gSA 

Ans.26(2) ^niZ* dk i;kZ; ^vgadkj* gSA 

Ans.27(3) ^?ku”;ke* dk vFkZ dkyk ckny gS] bldk nwljk vFkZ 

^d̀’.k* gSA 
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Ans.28(2) ^vfuy* dk i;kZ; ^iou*] lehj] ek:r] gok] ,oa ok;q gS 

tcfd ^vuy* vfXu dk i;kZ; gSA 

Ans.29(3) ^lqjlfj* “kCn dk vFkZ ^tkgoh* gSA ^lIrdh* dk vFkZ 

^lIr Lojokyh* ls gSA 

Ans.30(3) ^izLFkku* dk lekukFkhZ “kCn ^iz;k.k* gS ,oa ^izek.k* dk 

lekukFkhZ “kCn ^lk{;* ;k ^lcwr* gSA 

Quantitative Aptitude 

Ans.31(3) 
Ans.32(4) 30×1=30 
 30×1.5=45 
 45×2=90 
 90×2.5=225 
 225×3=675 
Ans.33(1) -13, -23, -33, -43, -53 
Ans.34(2) +46, +92, +184, +368, +736 

Ans.35(4) -122, -102, -82, -62, -42 

Ans.36(1) 2/7 of 5/6 of 3/8 of ?=790 
 ?=790×(8/3)×(6/5)×(7/2) 
 =79×8×2×7 
 =8848 
Ans.37(2) = (140%550)+(12.5%400)+(33.33%306) 
 = 770+50+102 
 = 820+102=922 
Ans.38(1) =√5929+√3364+√4761 
 =77+58+69=204 
Ans.39(2) ?/10 of √676=130/? of √64 
 x/10 of 26=130/x of 8 
 x2 = 400 
 x=20 
Ans.40(2) (762÷3)×(120%80)+2116=? 
 ?= (762÷3)×(120%80)+2116 
 ?=254×96+2116=26500 
Ans.41(4) = 4898-6234+5325-1294 
 = 4898+5325-6234-1294 
 = 10223-7528 
 = 2695 
Ans.42(4) ? = (20%280)+(√729×9)+123 
 ?= 56 + 243 + 123 
 ?= 422 
Ans.43(3)   Population of D = 64.8 lakh 
 Slum population = 26% × 64.8 lakh = 16.85 lakh 
 Population of E = 48.3 lakh 
 Slum population = 24% × 48.3 lakh = 11.6 lakh 
 Total Slum population of D and E = 16.85 + 11.6 
 lakh = 28.45 lakh 
Ans.44(4)   Population of A = 87.6 lakhs 
  Slum population = 40% × 87.6 = 35.04 lakh 
 Population of B = 78.4 lakhs 
 Slum population = 32% × 78.4 = 25.08 lakh 
 Population of C = 72.4 lakhs 
 Slum population = 25% × 72.4 = 18.1 lakh 
 Population of D = 64.8 lakh 
 Slum population = 26% × 64.8 lakh = 16.85 lakh 
 Population of E = 48.3 lakh 
 Slum population = 24% × 48.3 lakh = 11.6 lakh 
 Population of F = 28.2 lakh 
 Slum population = 20% × 28.2 lakh = 5.64 lakh 
 Population of G = 22.2 lakhs 
 Slum population = 15% × 22.2 lakh = 3.33 lakh 
 Thus, Slum population of A is the highest. 
Ans.45(2)   Total population of city A = 87.6 lakhs 
 Slum percentage = 40% 
 Slum population = 40/100 × 87.6  
 = 35.04 ≈ 35 lakh 
Ans.46(4)   In year 2011, 
 Population of G = 22.2 lakhs 
 Slum population = 15% × 22.2 lakh = 3.33 lakh 
 Population of F = 28.2 lakh 
 Slum population = 20% × 28.2 lakh = 5.64 lakh 
 Difference = 2.31 lakh 
Ans.47(3)   We have, 

 Population of B = 78.4 lakhs 
 Slum population = 32% × 78.4  
 = 25.08 lakh ≈ 25.1 lakh 
Ans.48(1) 32.123×41.98×23.9=? 
 ?=32×42×24 
 ?=32256 
Ans.49(3) (9/3)+ (5/27) + (3/243) + (7/9)=? 
 ?=(243+15+1+63)/81 
 ?=322/81 
 ?=4 
Ans.50(3) 353.02×1.93-242.34+(565/5)+130.923=? 
 706-242+113+131=? 
 ?=708 
Ans.51(2) ?= (16.6%of 1298)-(10.8%of 898) 
 ? =17/100 ×1300 – 11/100 ×900 
 ? =221 - 99 
 ?=122 
Ans.52(2) ?=34.867-15.975-8.1491-1.543 
 ?=35-16-8-2 
 ?=35-26 
 ?=9 
Ans.53(4) Probability that no one is selected 
 = (3/5)×(1/6)×(3/7) 
 = 3/70 
 Hence required probability=1-(3/70) 
 = 67/70 
Ans.54(4) Let Prabhu, Sasi and Gokul’s salary be 5x, 6x 
 and 7x respectively. 
 Then saving of Prabhu=5x×(75/100) =3.75x 
 Let saving of Prabhu, Sasi and Gokul be 3y, 3y 
 and 2y respectively. 
 But we have, 3y=3.75x 
 y=1.25x 
 Hence required percentage=[(7x-2y)7x]×100 
 = [(7x-2(1.25x))7x]×100 = 64.28% 
Ans.55(3) Total number of pens  
 = 80×(15% of 80) + 5×(20% of 80) 
 = 80×12+5×16 
 = 1040 
Ans.56(2) Speed of downstream = speed in still water + 
 speed of water 
 = 8+4=12km/hr 
Ans.57(2) (4x+12)/(5x+12) = 7/8 
 32x+96=35x+84 
 3x=12 
 X=4 
 Difference in their ages= (5x-4x) = x = 4 years 
Ans.58(5) Quantity I: 
 16P-P=(P×6×R)/100 
 15P=6PR/100 
 R=250 
 Quantity II: 
 SI=(1250×10×2)/100 
 SI=250 
 Quantity I = Quantity II 
Ans.59(1) Quantity I: 
  X×(110/100)×(125/100) = 550 
 X=Rs.400 
 Quantity II: 
 X×(118/100) – X×(88/100) = 90 
 30X/100=90 
 X=300 
 Quantity II < Quantity I 
Ans.60(3) Quantity I 
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 Quantity II: 
 Initially, Milk=90×(88/100)=79.2 
 Water=90×(12/100)=10.8 
 (79.2/(10.8+x))=72/28 
 79.2×28=72(10.8+x) 
 X=20L 
 Quantity II> Quantity I 
Ans.61(3) Quantity I: 
 14×6=42×X 
 X=2 
 Quantity II: 
 70×30=50×X 
 X=42 
 Quantity II > Quantity I 
Ans.62(1) Quantity I: 
 x(x+2)=7743 
 x2+2x-7743=0 
 x2+89x-87x-7743=0 
 x(x+89)-87(x+89)=0 
 (x-87)(x+89)=0 
 X=87, -89 
 i.e) x=87 
 Greater odd number=x+2=89. 
 Quantity II: 
 Let’s take third number is 100 
 Then the first number is 75 and the second 
 number is 73. 
 Percentage=(75-73)/75×100 
 = 2/75×100 
 = 8/3 
 Quantity I > Quantity II 
Ans.63(1) =((13000×6)+(20000×6)): 
 ((13000×6)+(5000×6)):((13000×6)+(10000×6)) 
 = (78000+120000):(78000+30000):  
 (78000+60000) 
 = 198000:108000:138000 
 = 33:18:23 
 Total profit is=148000 
 A’s share= (33×148000)/74=66000 
 B’s share= (18×148000)/74=36000 
 C’s share= (23×148000)/74=46000 
Ans.64(5) Total outcomes=8 
 Then favorable outcome={TTT, HHH} 
 = 2 
 Hence required probability =2/8 = 1/4 
Ans.65(3) Let CP=100 
 Then MP=150 
 Now SP=(90/100)×150 
 = 135 
 Thus profit percentage=35% 
 Hence required amount= 100× 40 × 35/100 
 = Rs.1400 

Reasoning Aptitude 

Ans.(66-70): 

  
Ans.66(4) 
Ans.67(3) 
Ans.68(5) 
Ans.69(3) 
Ans.70(5) 
Ans.71(2) 800 Norway 400 Russia 50 Israel 90 Sudan 
 1200 
  = 800 ÷ 400 - 50 × 90 + 1200 
 = 2 - 4500 + 1200 

  = 1202 - 4500 
  = - 3298 
Ans.72(5) 

  
Ans.73(4) 

  
Ans.74(5) A  H  M  E  D  A  B  A  D 
 A  A   A  B  D  D  E  H  M 
Ans.75(3)     Real, Earl 
Ans.(76-79): 

  
Ans.76(2) A = B ≤ D < E ≤ G ≥ H; F < A; G = J 
 I. F < E - True      (F<A =B ≤ D< E ≤ G ≥ H) 
 II. J>B - True        (B ≤ D < E ≤ G = J) 
Ans.77(3) P > Q ≤ R < S = T > W ≥ I;      K = S ≤ L 
 I. Q>W - False (Q ≤ R < S = T > W) 
 II. R<L - True (R<S ≤ L) 
Ans.78(5) A = B ≤ D < E ≤ G ≥ H; F < A; G = J 
 I. A > B - False (A = B) 
 II. D = J - False (D < E ≤ G = J) 
Ans.79(4) X ≤ Y = Z < U;      Z ≤ V 
 I. V>X - False      (X ≤ Y = Z ≤ V) 
 II. V=X - False     (X ≤ Y = Z ≤ V) 
 But both conclusions I & II make a 
 complementary pair as V≥X. So, either 
 conclusion I or II is true. 
Ans.(80-84): V <  R < P  < S (54) < Q < T (88) < M 
Ans.80(2)  
Ans.81(2) 
Ans.82(3) 
Ans.83(4) 
Ans.84(3) 
Ans.85(1) 

  
Ans.86(2) 

   
Ans.87(4) 

  
Ans.(88-90): 

  
Ans.88(1) 
Ans.89(4) 
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Ans.90(3) 
Ans.91(5) 

  
Ans.92(1) 

  
Ans.(93-97): 

  
Ans.93(5) 
Ans.94(5) 
Ans.95(2) 
Ans.96(2) 
Ans.97(4) 
Ans.98(4) Anil is ranked 21st from the bottom. 
 The number of students between Anil and 
 Mukul= 35-21-1= 13. 
Ans.(99-100): 

  
Ans.99(5) 
Ans.100(2) 
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                                               INSTRUCTIONS TO CANDIDATE 
 

 

iz'uksa dks gy djus ls igys fuEufyf[kr funsZ'kksa dks /;ku ls i<+saA 

 

(1) bl iqfLrdk esa 100 ç'u gSa] tks fd dqy rhu Hkkxkas esa foHkkftr gSaA 

 Hkkx- (I)  :  English Language / (or) Hindi Language   (30 iz'u) 

 Hkkx- (II)  : Quantitative Aptitude      (35 iz'u) 

 Hkkx- (III) : Reasoning Aptitude      (35 iz'u) 

 (2) lHkh ç'u vfuok;Z gSa rFkk lcds cjkcj vad gSaA 

 (3) ç'uksa dks gy djuk çkjEHk djus ls igys vkidks bl iqfLrdk dh tkap djuh pkfg, vkSj ;g lqfuf'pr djuk pkfg, fd blesa lHkh 

 i`"B mifLFkr gSa vkSj dksbZ i`"B de ;k cnyk gqvk ugha gSA vxj vkidks bl iqfLrdk esa dksbZ nks"k feyrk gS] rks  vkidks rqjar bls 

 cnyuk gksxkA 

 (4) çR;sd ç'u esa udkjkRed vadu gksrk gS D;ksafd çR;sd xyr mÙkj ds fy, 0-25 vad dkV fn;k tk,xkA 

 (5) vkidks fujh{kd }kjk mÙkj iqfLrdk vyx ls nh tk,xhA vkidks ç'uksa dks gy djuk çkjEHk djus ls igys viuk uke] jksy uacj] 

 VsLV uke @vkbZMh vkSj@ijh{kk dk uke mÙkj&iqfLrdk ij lko/kkuhiwoZd iwjk djuk gksxkA vkidks mÙkj&iqfLrdk esa fu/kkZfjr LFkku 

 ij viuk gLrk{kj Hkh djuk gksxkA bu funsZ'kksa dk iwjh rjg ls ikyu fd;k tkuk pkfg,] ftldks u djus ij vkidh mÙkj&iqfLrdk 

 dk ewY;kadu ugha fd;k tk,xk vkSj vkidks ^'kwU;^ vad fn;k tk,xkA 

 (6) mÙkj dsoy isafly ;k CySd@Cyw c‚y isu }kjk mÙkj& iqfLrdk çklafxd ç'u la[;k ds lEcaf/kr xksys dks iwjh rjg ls CySd 

 djds fn[kk;k tkuk pkfg,A 

 (7) OMR mÙkj iqfLrdk  dks ,d e'khu }kjk tkapk tk;sxkA ;fn fdlh fLFkfr esa miyC/k tkudkjh] vkosnu i= esa nh x;h  tkudkjh 

 ls vyx ik;h x;h] rks vkosnd dk vkosnu fujLr dj fn;k tk;sxkA 

 (8) fujh{kd dh vuqefr feyus ds ckn gh dksbZ ijh{kk d{k NksM+ ldrk gSA 

 (9) mijksä esa ls fdlh Hkh funsZ'k dk vuqikyu djus esa foQy mEehnokj dks mi;qä  dk;Zokgh@tqekZuk ds fy, mÙkjnk;h le>k tk 

 ldrk gSA  

 (10) ftruh tYnh gks lds mruh tYnh vkSj lko/kkuh ls ç'uksa dk mÙkj nsaA dqN loky dfBu gks ldrs gSa vkSj nwljs vklku gks 

 ldrs gSaA fdlh Hkh ç'u ij T;knk le; ugha fcrk,aA 

 (11)  eksckby Qksu vkSj ok;jysl lapkj midj.k] ijh{kk d{k@dejs esa iwjh rjg ls çfrcaf/kr gSaA dksbZ Hkh vkosnd vius eksckby 

 dk ;k fdlh ok;jysl lapkj midj.k dks can djds Hkh vius ikl ugha j[k ldrkA fu;e dk mYya?ku djus ij vkosnd ds fo:) 

 mfpr dk;Zokgh dh tk;sxh vkSj mldk vkosnu Hkh fujLr fd;k tk ldrk gSA  

 (12)  mÙkj&i= ij dksbZ jQ dke ugha fd;k tkuk pkfg,A  

 (13)  dksbZ Hkh mEehnokj ijh{kk iwjk gksus ls igys ijh{kk d{k ugha NksM+ ldrk gSA 

 

 

 

 

 

tc rd vkidks ;g ijh{k.k iqfLrdk [kksyus dks u dgk tk, rc rd u [kksysa 

  

vf/kdre vad % 100 

dqy ç'u         % 100  

fu/kkZfjr le; %  60 feuV 

 

Maximum Marks :
 100 

Total Questions :
 100 

Time Allowed :   90 Min. 
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fnuk¡d :.................. ijh{kk dksM ................................ 

vuqØekad :........................................................... 
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English Language 

Direction (1-10):  In a passage given below there are 10 
blanks, each followed by a word given in bold. Even 
blank has four alternative words given in options (a), 
(b), (c) and (d). You have to choose which word will 
best suit to the respective blank. Choose (5) as your 
answer if the word given in the bold after the blank is 
your answer i.e   "No change requires". 
 
_(1)_[Joint]_relations between India and Maldives 
are on the brink once again as the deadline for India 
to _(2)_[extract]_its two helicopters has passed and 
the issue of visas for thousands of Indian job-seekers 
remains unresolved. 
The visas of more than 26 Indian Navy personnel 
operating the Advanced Light Helicopter (ALH) were 
valid till June 30. However, Maldives has refused to 
_(3)_[lengthen]_their visas and has already asked 
India to take back the two ALHs. “The Navy personnel 
are in Maldives awaiting further instructions,” a 
defence official said. 
The two helicopters were gifted by India in 2013 and 
one was _(4)_[activated]_by the Indian Coast Guard 
and the other by the Indian Navy. The validity for the 
Coast Guard helicopter had expired earlier this year 
but the helicopter still remains there. End of May, the 
visas of Navy personnel were extended by one month 
after _(5)_[participation]_of External Affairs Minister 
Sushma Swaraj. 
Maldives Ambassador to India Ahmed Mohamed said 
there had been no news on whether the issue over 
the helicopters had been resolved, adding that the 
matter was being handled “directly in Male.” 
“What I know is that the helicopters were supposed to 
be taken back by 30th [to India].” Maldives officials 
also declined to comment and said the issue 
_(6)_[are]_being dealt with by the Ministry of 
Defence. 
Hundreds of Indians say their jobs may be on the 
_(7)_[row]_as tensions between the two countries 
continue. 
It is reported on June 14 about an estimated 2,000 
Indian applicants who have been offered jobs in the 
Maldives, but have not received work permits since 
February. According to dozens of such applicants, 
most employers have informed them that “Indian work 
visas” are not being _(8)_[furnished]_at present, and 
some have sent letters with deadlines of July 1, after 
which they would fill their positions. Maldives sources 
_(9)_[announced]_that they had received several 
complaints about difficulties faced by Indians in 
obtaining Maldivian work permits and the matter was 
bein _(10)_[quested]_officially. 

1.  (1) shared  (2) common 
(3) bilateral  (4) collective 
(5) No change required 

2.  (1) validity  (2) withdra 
(3) issue   (4) permits 
(5) No change required 

 
3.  (1) had   (2) might 

(3) have   (4) was 
(5) No change required 

 
4.  (1) cord   (2) string 

(3) line   (4) yarn 
(5) No change required 

5.  (1) circulated  (2) distributed 
(3) supplied  (4) issued 
(5) No change required 

6.  (1) expand  (2) widen 
(3)  enlarge  (4) extend 
(5) No change required 

 
7.  (1) operated  (2) managed 

(3) driven  (4) controlled 
(5) No change required 

 
8.  (1) interruption  (2)  incursion 

(3) intervention  (4) negotiation 
(5) No change required 

 
9.  (1) admitted  (2) unveiled 

(3) stated  (4)  declared 
(5) No change required 

 
10.    (1) investigated  (2)  explored 

(3)  searched  (4) pursued 
(5) No change required 

 
Direction (11-20): Read the following passage carefully and 

answer the questions given below it. 
 
From the beginning of the 19th century, the British 
East India Company's gradual expansion and 
consolidation of power brought a major change in 
taxation and agricultural policies, which tended to 
promote commercialization of agriculture with a focus 
on trade, resulting in decreased production of food 
crops, mass impoverishment and destitution of 
farmers, and in the short term, led to numerous 
famines. The economic policies of the British Raj 
caused a severe decline in the handicrafts and 
handloom sectors, due to reduced demand and 
dipping employment. After the removal of 
international restrictions by the Charter of 1813, 
Indian trade expanded substantially with steady 
growth. The result was a significant transfer of capital 
from India to England, which, due to the colonial 
policies of the British, led to a massive drain of 
revenue rather than any systematic effort at 
modernization of the domestic economy. Under 
British rule, India's share of the world economy 
declined from 24.4% in 1700 down to 4.2% in 1950. 
India's GDP (PPP) per capita was stagnant during the 
Mughal Empire and began to decline prior to the 
onset of British rule. India's share of global industrial 
output declined from 25% in 1750 down to 2% in 
1900. At the same time, the United Kingdom's share 
of the world economy rose from 2.9% in 1700 up to 
9% in 1870. The British East India Company, 
following their conquest of Bengal in 1757, had forced 
open the large Indian market to British goods, which 
could be sold in India without tariffs or duties, 
compared to local Indian producers who were heavily 
taxed, while in Britain protectionist policies such as 
bans and high tariffs were implemented to restrict 
Indian textiles from being sold there, whereas raw 
cotton was imported from India without tariffs to 
British factories which manufactured textiles from 
Indian cotton and sold them back to the Indian 
market. British economic policies gave them a 
monopoly over India's large market and cotton 
resources. India served as both a significant supplier 
of raw goods to British manufacturers and a large 
captive market for British manufactured goods. 
British territorial expansion in India throughout the 
19th century created an institutional environment that, 
on paper, guaranteed property rights among the 
colonizers, encouraged free trade, and created a 
single currency with fixed exchange rates, 
standardized weights and measures and capital 
markets within the company-held territories. It also 
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established a system of railways and telegraphs, a 
civil service that aimed to be free from political 
interference, a common-law and an adversarial legal 
system. This coincided with major changes in the 
world economy – industrialization, and significant 
growth in production and trade. However, at the end 
of colonial rule, India inherited an economy that was 
one of the poorest in the developing world, with 
industrial development stalled, agriculture unable to 
feed a rapidly growing population, a largely illiterate 
and unskilled labour force, and extremely inadequate 
infrastructure. The 1872 census revealed that 91.3% 
of the population of the region constituting present-
day India resided in villages. This was a decline from 
the earlier Mughal era, when 85% of the population 
resided in villages and 15% in urban centers under 
Akbar's reign in 1600. Urbanization generally 
remained sluggish in British India until the 1920s, 
due to the lack of industrialization and absence of 
adequate transportation. Subsequently, the policy of 
discriminating protection (where certain important 
industries were given financial protection by the 
state), coupled with the Second World War, saw the 
development and dispersal of industries, encouraging 
rural–urban migration, and in particular the large port 
cities of Bombay, Calcutta and Madras grew rapidly. 
Despite this, only one-sixth of India's population lived 
in cities by 1951. The impact of British rule on India's 
economy is a controversial topic. Leaders of the 
Indian independence movement and economic 
historians have blamed colonial rule for the dismal 
state of India's economy in its aftermath and argued 
that financial strength required for industrial 
development in Britain was derived from the wealth 
taken from India. At the same time, right-wing 
historians have countered that India's low economic 
performance was due to various sectors being in a 
state of growth and decline due to changes brought in 
by colonialism and a world that was moving towards 
industrialization and economic integration 
Several economic historians have argued that real 
wage decline occurred in the early 19th century, or 
possibly beginning in the very late 18th century, 
largely as a result of British imperialism. Economic 
historian Prasannan Parthasarathi presented 
earnings data which showed real wages and living 
standards in 18th century Bengal and Mysore being 
higher than in Britain, which in turn had the highest 
living standards in Europe. Mysore's average per-
capita income was five times higher than subsistence 
level, i.e. five times higher than $400 (1990 
international dollars), or $2,000 per capita. In 
comparison, the highest national per-capita incomes 
in 1820 were $1,838 for the Netherlands and $1,706 
for Britain.(117) It has also been argued that India 
went through a period of deindustrialization in the 
latter half of the 18th century as an indirect outcome 
of the collapse of the Mughal Empire. 
Indian economic policy after independence was 
influenced by the colonial experience, which was 
seen as exploitative by Indian leaders exposed to 
British social democracy and the planned economy of 
the Soviet Union. Domestic policy tended towards 
protectionism, with a strong emphasis on import 
substitution industrialization, economic 
interventionism, a large government-run public sector, 
business regulation, and central planning, while trade 
and foreign investment policies were relatively liberal 
Five-Year Plans of India resembled central planning 
in the Soviet Union. Steel, mining, machine tools, 
telecommunications, insurance, and power plants, 
among other industries, were effectively nationalized 
in the mid-1950s. 

11. According to the passage what did the economic 
policies of the British Raj cause? 
(1) Commercialization of agriculture 
(2) Decreased production 
(3) A severe decline in the handicrafts and handloom 
sectors 
(4) Gradual expansion of the British Raj 
(5) Transfer of capital 

 
12.  According to the passage what was India’s share of 

the world economy in 1950? 
(1) 24.4%  (2) 2.9% 
(3) 9%   (4) 4.2% 
(5) 2% 

 
13.  According to the passage what was the cause for the 

slow moving of urbanization until 1920s? 
(A) industrialization and adequate transportation 
(2) lack of industrialization and absence of adequate 
transportation. 
(3) rural population moved to the cities 
(4) there was an urgent need for transportation 
(5) All the above 

 
14.  Choose the word which as same meaning as the 

word “impoverishment” printed in bold as used in 
the passage. 
(1) Rich   (2) Wealthy 
(3) Misery  (4) Improved 
(5) None of these 

 
15.  Choose the word which is most nearly the same in 

meaning as the word “sluggish” printed in bold as 
used in the passage. 
(1) Rapid  (2) Developed 
(3) Speedy  (4) Indolent 
(5) None of these 

 
16.  Choose the word which is most opposite in meaning 

of the word “captive” printed in bold as used in the 
passage. 
(1) Free   (2) Confined 
(3) Detained  (4) None of these 
(5) All the above 

 
17.  According to the passage what were the sectors 

nationalized in mid-1950s? 
(A) Business regulation and central planning 
(B) Steel, mining, machine tools, telecommunications, 
insurance, and power plants 
(3) Agriculture  
(4) Handicrafts and handloom sectors 
(5) All the above 

 
18.  Which of the following statements is true in the 

context of the passage? 
(1) At the end of colonial rule, India inherited an 
economy that was one of the richest in the developing 
world  
(2) Raw cotton was exported to India without tariffs 
(3) The 1872 census revealed that 91.3% of the 
population resided in cities. 
(4) Urbanization generally remained sluggish in 
British India until the 1920s 
(5) All are true 

 
19.  Find the incorrect statement on the basis of the given 

passage. 
(1) India served as a large captive market for British 
manufactured goods. 
(2) India served as a significant supplier of raw goods 
to British manufacturers 
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(3) The British East India Company, had forced open 
the large Indian market to British goods. 
(4) It also established a system of a civil service that 
aimed not to be free from political interference. 
(5) None of the above 

 
20.  Choose the word which is opposite in meaning of the 

word “coincided” printed in bold as used in the 
passage. 
(1) Match  (2) Diverge 
(3) Agree  (4) Go along with 
(5) None of these 

 
Directions (21- 25): Rearrange the following sentences (a), 

(b), (c), (d), (e), (f), and (g) in the proper sequence to 
form a meaningful paragraph, then answer the 
questions given below them.    
(a) How can we address the aspirations of a billion 
people with such varying set of capabilities and 
abilities?  
(b) This is not to say that the child in the remote area 
must not be cared for.  
(c) However, we must be practical about how we do it 
(d) The standard refrain from successive regimes is 
to deliver a one-size-fits-all solution. 
(e) India has 400 million people below the poverty line 
and another 600 million in the lower middle class and 
aspirant poor.  
(f) Thus, we try to teach a child from a remote area 
complex biology, chemistry, physics, 
and  mathematics and try to equate that child with 
one in an urban set up.  
(g) We must innovate ways to find, nurture, and 
develop the Abdul Kalams of the future from such 
remote areas.  
(h) Such a large number spread across different 
states each with a different language, tradition, and 
practice does seem daunting. 

 
21.  Which of the following would be the FIFTH statement 

after rearrangement? 
(1) c   (2) e   
(3) g    (4) d   
(5) f 

 
22.  Which of the following would be the SECOND 

statement after rearrangement?  
 (1) a   (2) h   

(3) b   (4) e   
(5) g 

 
23.  Which of the following would be the EIGHTH  

statement after rearrangement? 
(1) d   (2) b   
(3) h   (4) c   
(5) f 

 
24.  Which of the following would be the FOURTH  

statement after rearrangement? 
(1) e   (2) a   
(3) b   (4) d   
(5) c 

 
25.  Which of the following would be the FIRST statement 

after rearrangement? 
(1) f   (2) e   
(3) h   (4) g   
(5) b  

 
Directions (26-30): In each of the question below, there is a 

word given in bold which is followed by the five 
options. In each of the option, a pair of words is given 
which is either the pair of synonyms or antonyms or 

synonym & antonym of the word given in bold-that 
pair of words is as answer. 

 
26 Augur 

(1) Evaluate- estimate (2) Envision- visualize 
(3) Emulsion - suspension (4) Afflict - worry 
(5) Herald- portend 

 
27. Unequivocal 

(1) Clear- untidy  (2) Promotion- detention 
(3) Obvious- obscure (4) Coincides- commercial 
(5) Viable- stable 

 
28.  Benign 

(1) Submissive-support (2) Benevolent - malignant 
(3) Cruel- begin  (4) Prepare- start 
(5) Handsome- lovable 

 
29. Mandate 

(1) Voice- invoice  (2) Assume - guess 
(3) Place- position (4) Order - directive 
(5) Malpractice – misconduct 

 
30. Tweak 

(1) Pull – refrain  (2) Speed-quick 
(3) Slow- small  (4) Engine- automatic 

 (5) Mean- malicious 

HINDI 

funZs”k (1-5) fuEufyf[kr x|ka”k dks i<+dj ml ij vk/kkfjr iz”uksa ds 

mRrj nsaA 

 

 le; cgwr ewY;oku gS le; fdlh ds fy, :drk ugha gSa 

lalkj esa og O;fDr lQyrk izkIr djrk gS tks le; dk 

lgh mi;ksx djrk  

 gSA fo|kfFkZ;ksa dk xg̀ dk;Z fn;k tkrk gSA dqN fo|kFkhZ 

fuR; dk dk;Z iwjk dj ysrs gSaA dqN vkjke ls vkSj vxys 

fnu djrs  gSaA dqN 

 viuk le; csdkj dh ckrsa cukus esa fcrkrs gSaA xg̀ dk;Z ij 

/;ku ugha nsrsA bldk ifj.kke gksr gS fd os f”k{kk esaa fiNM+ 

tkrs gSaA 

 ijh{kk esa mÙkh.k ugha gks ikrsA fuR; viuk dke iwjk djus 

okys mÙrh.kZ gksrs gSaA vr% le; ds lnqi;ksx dk egRo 

le>ksa vkSj le; dk 

 lgh mi;ksx djks lQyrk rqEgkjs dne pwesxhA  

 
1. dkSu fdlh ds fy, ugha :drk\   

 (1) jk’Vªifr  (2) le;  

 (3) iz/kkuea=h  (4) Kku  

 (5) xq: 

 
2. le; dks csdkj fcrkus dk D;k urhtk gksrk gSa\ 

 (1) vius dk;Z esa vlQyrk  (2) vkjke feyrk gS  

 (3) lQyrk fuf”pr gS  (4) Hkfo’; ds fy, ijs”kkuh  

 (5) buesa ls dksbZ ugha 

 
3. le; ij dke iwjk djus okys fo|kFkhZ D;k ikrs gSa\ 

 (1) vlQyrk  (2) lQyrk   

 (3) Kku    (4) vuq”kklu 

 (5) buesa ls dksbZ ugha  

 
4. le; dks ewY;oku D;ksa ekuk tkrk gS\  

 (1) le; dh thou esa mi;ksfxrk ds dkj.k   

 (2) lQyrk dk vk/kkj gksus ds dkj.k    

(3) mi;qZDr nksuksa   

 (4) Hkfo’; ds fy, 

 (5) buesa ls dksbZ ugha 
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5. x|ka”k dk lokZf/kd mi;qZDr “kh’kZd pqfu,&  

 (1) le; dk lnqi;ksx (2) le; dk egRo 

 (3) le; lQyrk dk vk/kkj (4) le; vkSj lQyrk  

 (5) buesa ls dksbZ ugha 

 

funZs”k (6-10) uhps fn, x, iz”uksa ds ikap oSdfYid mRrj fn, x, 

gSaA buesa ls lgh mRrj dk pquko dhft,& 

 

6. ^^y{e.k ,d dq”ky dk;ZdrkZ gS** esa fo”ks’k.k gS&  

 (1) y{e.k  (2) dk;ZdrkZ  

 (3) dq”ky  (4) mi;qZDr lHkh  

 (5) buesa ls dksbZ ugha 

 
7. fgUnh Hkk’kk dh fyfi gS& 

 (1) izkdr̀  (2) nsoukxjh  

 (3) ikyh   (4) laLd`r 

 (5) buesa ls dksbZ ugha 

 
8. ^fuokZflr* “kCn esa fuEfyf[kr esa dkSu&lk izR;; gSa\ 

 (1) br   (2) flr  

 (3) bd   (4) bZr 

 (5) buesa ls dksbZ ugha 

 
9. fuEu esa ls dkSu&lk o.kZ rkyO; vkSj ukflD; gS\ 

 (1) ^¥*   (2) ^{k*  

 (3) ^N*   (4) ^’k* 

 (5) p 

 
10. fuEu esa ls ^:<+* “kCn dkSu&lk gS\ 

 (1) yacksnj  (2) ?kqM+lky  

 (3) nw/kokyk  (4) yksVk 

 (5) fo|ky; 

 

funsZ”k (11-13) uhps izR;sd iz”u esa fn, x, fodYiksa esa ls rRle 

“kCn dk p;u dhft,% 

 
11. (1) xqaykc  (2) xasnk  

 (3) iq’i   (4) Qwy 

 (5) pk¡n 

 
12. (1) vJq   (2) jsfM;ksa  

(3) ixM+h  (4) dku 

 (5) vk¡[k 

 
13. (1) vke   (2) vkst   

 (3) diwj   (4) galh 

 (5) buesa ls dksbZ ugha 

 

funsZ”k (14-16) fuEufyf[kr izR;sd okD; ds fy, mlds uhps fn, x, 

fodYiksa esa lsa mlds izdkj dks fpfgar dhft,%  

 
14. eSus dgk dqN vkSj] mlus lquk dqN vkSjA  

 (1) ljy  okD;  (2) la;qDr okD;  

 (3) feJ okD;  (4) lk/kkj.k okD; 

 (5) buesa ls dksbZ ugha 

 
15. O;ogkj esa og fcYdqy oSlk gh gS tSls mlds firkthA 

 (1) ljy okD;  (2) la;qDr okD;  

 (3) feJ okD;  (4) lk/kkj.k okD;  

 (5) buesa ls dksbZ ugha 

 
 
 

16. lRlax djks] lnkpkjh cuksA 

 (1) bPNkokpd  (2) vkKkokpd 

 (3) fof/kokpd  (4) ladsrokpd 

 (5) iz”uokpd 

 
funsZ”k (17-19) uhps dqN “kCn fn, x, gSA izR;sd dh orZuh ds fy, 

pkj fodYi fn, x, gSA buesa ls ,d fodYi esa “kCn dh 

“kq) orZuh nh xbZ gSA vkidks ml “kq) orZuh dk p;u 

djuk gS 

 
17. (1) vkdlfed  (2) vkdfLed  

 (3) vkdflfed  (4) vkdLed 

 (5) vkdkfLed 

 
18. (1) HkxhjFkh  (2) HkxhjFkh  

 (3) HkkfxfjFkh  (4) HkkxhjFkh 

 (5) HkfxjFkh 

 
19. (1) Øh;”khy  (2) Øh;k”khy  

 (3) dk;Z”khy  (4) Ø;”khy 

 (5) fØ;k”khy 

 

funsZ”k (20-22) fuEufyf[kr “kCnksa ds pkj&pkj laf/k&foPNsn fn, x, 

gSaA lgh fodYi p;u djsa\ 

 
20. egksnf/k 

 (1) egks$mn~f/k  (2) egks$nf/k  

 (3) egk$mnf/k  (4) egk$nf/k 

 (5) egk%$nf/k  

 
21. o/;kxeu 

 (1) o/k$vkxeu  (2) ow/k$vkxeu  

 (3) o/kq$vkxeu  (4) o/kw$vkxeu 

 (5) o/kq$vxeu 

 
22. ^fgeky;* esa fdl laf/k dk iz;ksx gqvk gS\ 

 (1) xq.k Loj laf/k  (2) ;.k~ Loj laf/k 

 (3) nh?kZ Loj laf/k  (4) folxZ laf/k 

 (5) O;atu laf/k 

 

funsZ”k (23-25)&fuEufyf[kr izR;sd “kCn ds fy, mlds uhps fn, x, 

fodYiksa esa ls mi;qDr lekl dk p;u djsa%  

 
23. bdrhl  

 (1) rRiq:’k  (2) f}xq  

 (3) }U}   (4) deZ/kkj; 

 (5) vO;;hHkko 

 
24. l)eZ 

 (1) rRiq:’k  (2) cgqozhfg  

 (3) deZ/kkj;  (4) vO;;hHkko 

 (5) }Un 

 
25. pkSjkgk 

 (1) cgqozhfg  (2) rRiq:’k  

 (3) vO;;hHkko  (4) f}xq 

 (5) }Un 
 

funsZ”k (26-28) fuEufyf[kr “kCnksa ds vkxs ikap&ikap “kCn fn, x, 

gSaA buesa lsa mfpr i;kZ;okph pqudj fpafgr djsa%& 
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26. niZ 

 (1) frjLdkj  (2) vgadkj  

 (3) LokfHkeku  (4) xoZ 

 (5) [kq”kh 

 
27. ^?ku”;ke* dk vFkZ gS dkyk ckny] bldk nwljk vFkZ gS% 

 (1) fo’.kq   (2) ?kus ckny  

 (3) d̀’.k   (4) o’kkZ 

 (5) va/ksjk 

 
28. ^vfuy* dk i;kZ; gS% 

 (1) vuy   (2) iou  

 (3) ikol   (4) pØokr 

 (5) buesa ls dksbZ ugha 

 

funsZ”k (29-30) uhps dqN “kCn fn;s x;s gSa] izR;sd ds ikap oSdfYid 

vFkZ fn;s x;s gS] mi;qDr vFkZ dk p;u dhft;sA  

 
29. ^lqjlfj* dk vFkZ gSA 

 (1) tkgoh  (2) lqUnj jlokyh  

 (3) lqUnj lj  (4) lIr Lojokyh 

 (5) lqanj 

 
30. ^izLFkku* dk lekukFkhZ “kCn D;k gS\ 

 (1) LoLFkku  (2) fo”ks’k LFkku  

 (3) iz;k.k  (4) izek.k 

 (5) vkxeu 

Quantitative Aptitude 

निरे्दश (31-35): दिए गए प्रश्नों में प्रश् दिह्न के स्थान पर क्या मान हनना िादहए? 

31.  8, 16, 34, 71, 146, ? 

(1) 271   (2) 261 

(3) इनमें से कनई नह ों  (4) 251 

(5) 221 

 

32.  30, 30, 45, 90, 225, ? 

(1) 570   (2) 630 

(3) 510   (4) 675 

(5) 480 

 

33.  232     231     223    196      132      ? 

(1) 7   (2) 5  

(3) 9   (4) 11  

(5) इनमें से कनई नह ों 

 

34.     22     68     160      344     ?     1448 

(1) 714   (2) 712  

(3) 717   (4) 709  

(5) इनमें से कनई नह ों 

 

35.     586      442      341      278     242      ? 

(1) 224   (2) 219  

(3) 225   (4) 226  

(5) इनमें से कनई नह ों 

 

निरे्दश (36-42): दिए गए प्रश्नों में प्रश् दिह्न के स्थान पर क्या मान हनना िादहए? 

 

36.  ? का 3/8 का 5/6 का 2/7 =790 

(1) 8848   (2) 8448 

(3) 8748   (4) 8248 

(5) इनमें से कनई नह ों 

 

37.  (550 का 140%) + (400 का 12.5%)+(306 का 33.33%)=? 

(1) 780   (2) 922 

(3) 824   (4) 780 

(5) इनमें से कनई नह ों 

 

38.  √5929+√3364+√4761=? 

(1) 204   (2) 224 

(3) 254   (4) 234 

(5) इनमें से कनई नह ों 

 

39.  √676 का ?/10 = √64 का 130/? 

(1) 30   (2) 20 

(3) 18   (4) 40 

(5) इनमें से कनई नह ों 

 

40.  (762÷3)×(80 का 120%)+2116=? 

(1) 24500   (2) 26500 

(3) 23800   (4) 27850 

(5) इनमें से कनई नह ों 

 

41.  4898-6234+5325-1294=? 

(1) 2595   (2) 2495 

(3) 2965   (4) 2695 

(5) इनमें से कनई नह ों 

 

42.  (280 का 20%)+(√729×9)+123 = ? 

(1) 332   (2) 542 

(3) 324   (4) 422 

(5) इनमें से कनई नह ों 

 

निरे्दश (43–47) : दनम्न सारण  कन ध्यान से पढ़कर इसके आधार पर दनम्न प्रश्नों का 

उत्तर िे| 

2011 में कुल जनसोंख्या के प्रदिशि के रूप में ग्राम ण जनसोंख्या 

  
 

43.  वर्ष 2011 में शहर D एवों शहर E क  एक साथ कुल ग्राम ण जनसोंख्या 

क्या थ ? 

(1) 26 लाख   (2) 27.88 लाख 

(3) 28.45 लाख  (4) 29.2 लाख 

(5) इनमें से कनई नह ों 

 

44.  वर्ष 2011 में सवाषदधक ग्राम ण जनसोंख्या दकस शहर में थ ? 

(1) C   (2) B   

(3) D   (4) A 

(5) इनमें से कनई नह ों 

 

45.  वर्ष 2011 में शहर A क  कुल ग्राम ण जनसोंख्या (लगभग) दकिन  थ ? 

(1) 31 लाख  (2) 35 लाख 

(3) 32 लाख  (4) 34 लाख 

(5) इनमें से कनई नह ों 

 

46.  वर्ष 2011 में शहर G एवों शहर F क  ग्राम ण जनसोंख्या के ब ि दकिना 

अोंिर था? 

(1) 1.40 लाख  (2) 1.70 लाख  

(3) 1.50 लाख  (4) 2.31 लाख 

(5) इनमें से कनई नह ों 

 

47.  वर्ष 2011 में शहर B क  ग्राम ण जनसोंख्या (लगभग) दकिन  थ ? 

(1) 24.5 लाख  (2) 25.5 लाख 

(3) 25.1 लाख  (4) 27.5 लाख 

(5) इनमें से कनई नह ों 

 

निरे्दश (48-52): दिये गए प्रश्नों में प्रश् दिन्ह के स्थान पर अनुमादनि मान क्या हनना 

िादहए? 

 

48.  32.123×41.98×23.9=? 

(1) 32256   (2) 39623 

(3) 32983   (4) 38526 

(5) 31256 
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49.  (9/3)+ (5/27) + (3/243) + (7/9)=? 

(1) 2   (2) 5 

(3) 4   (4) 1 

(5) 7 

 

50.  353.02×1.93-242.34+(565/5)+130.923=? 

(1) 729   (2) 753 

(3) 708   (4) 792 

(5) 630 

 

51.  (1296 का 16.6%)-(898 का 10.8%)=? 

(1) 149   (2) 122 

(3) 115   (4) 106 

(5) 132 

 

52.  34.867-15.975-8.1491-1.543=? 

(1) 12   (2) 9 

(3) 15   (4) 18 

(5) 21 

 

53.  सू्कल में 3 छात्नों के ियन क  सोंभावना क्रमशः  2/5, 5/6 और 4/7 है। 

उनमें से कम से कम एक के िुने जाने क  सोंभावना क्या है।. 

(1) 17/70   (2) 24/55 

(3) 23/55   (4) 67/70 

(5) 11/24 

 

54.  प्रभु, सास  और गनकुल के वेिन का अनुपाि 5:6:7 है, जबदक प्रभु, सास  

और गनकुल क  बिि का अनुपाि 3:3:2 है। यदि प्रभु का व्यय उसके 

वेिन का 25% है, िन गनकुल का व्यय उसके वेिन का दकिना प्रदिशि 

है? 

(1) 23.28%  (2) 82.28%                     

(3) 16.28%  (4) 64.28% 

(5) 84.28% 

 

55.  80 पुरुर्नों और 5 मदहलाओों के एक समूह में, प्रते्यक पुरुर्नों कन दमलने 

वाले पेन क  सोंख्या, पुरुर्नों क  कुल सोंख्या का 15% है और प्रते्यक 

मदहलाओों कन दमलने वाले पेन क  सोंख्या, पुरुर्नों क  कुल सोंख्या का 20% 

है। वहााँ दकिने पेन थे? 

(1) 1453   (2) 1234 

(3) 1040   (4) 1012 

(5) इनमें से कनई नह ों 

 

56.  शाोंि जल में नाव क  गदि 8 दकम /घोंटा है। एक व्यक्ति अपने नाव कन 

धारा के दवरुद्ध 4 दकम /घोंटा से खे सकिा है। धारा के साथ(अनुप्रवाह) 

गदि क्या है? 

(1) 8 दकम /घोंटा  (2) 12 दकम /घोंटा 

(3) 16 दकम /घोंटा  (4) 2 दकम /घोंटा 

(5) इनमें से कनई नह ों 

 

57.  सैम और सुधा क  आयु 4:5 के अनुपाि में है। 12 वर्ष बाि उनके आयु 

का अनुपाि 7:8 हनगा। उनके आयु का अोंिर क्या है? 

(1) 5 वर्ष   (2) 4 वर्ष 

(3) 6 वर्ष   (4) 8 वर्ष 

(5) इनमें से कनई नह ों 

 

निरे्दश (58-62): प्रते्यक प्रश् में एक कथन के बाि मात्ा I और मात्ा II दिया गया है। 

सावधान पूवषक कथन कन पढ़ें  और ििनुसार उत्तर िें। 

(a) मात्ा I > मात्ा II  (b) मात्ा I ≥  मात्ा II 

(c) मात्ा II > मात्ा I  (d) मात्ा II ≥  मात्ा I 

(e) मात्ा I = मात्ा II या सोंबोंध स्थादपि नह ों दकया जा सकिा है 

 

58.  मात्रा I: यदि कनई रादश 6 वर्ष में 16 गुना हन जािा है। िन ब्याज क  िर 

ज्ञाि करें? 

मात्रा II: 10% प्रदि वर्ष क  िर पर 2 वर्ष के अोंि में 1250 रुपये क  रादश 

पर साधारण ब्याज क्या है? 

(1) a   (2) b 

(3) c   (4) d 

(5) e 

 

59.  मात्रा I: A ने B कन एक डेस्क 10% लाभ पर बेिा  है, B इसे C कन 25% 

लाभ पर बेििा है। यदि C इसके दलए 550 रुपये अिा करिा है, िन मूल्य 

क्या है दजसपर A ने डेस्क कन खर िा? 

मात्रा II: एसाइ 12% क  हान  पर मनबाइल कन बेििा है। यदि वह इसे 

18% के लाभ पर बेिा हनिा, िन उसे 90 रुपये प्राप्त हनिा। मनबाइल का 

क्रय मूल्य क्या है? 

(1) a   (2) b 

(3) c   (4) d 

(5) e 

 

60.  मात्रा I: 20 रुपये/दकलन वाल  िावल क  दकिन  मात्ा, 6 रुपये/दकलन 

वाल  िावल क  12 दकलन के साथ दमलाया जाना िादहए िादक पररणाम  

दमश्रण क  क मि 8 रुपये/दकलन हन? 

मात्रा II: पान  और िूध के 90 ल टर दमश्रण में िूध क  मात्ा 88% है। इस 

दमश्रण में दकिना पान  दमलाया जाना िादहए िादक इस दमश्रण में िूध क  

मात्ा 72% हन? 

(1) a   (2) b 

(3) c   (4) d 

(5) e  

 

61.  मात्रा I: 14 पुरुर् एक काम कन 6 दिननों में पूरा कर सकिे है। उस  काम 

कन 42 पुरुर् दकिने दिननों में पूरा कर सकिे है? 

मात्रा II: 70 मदहलाएों  एक काम कन 30 दिननों में पूरा कर सकि  है। उस  

काम कन 50 दिननों में पूरा करने के दलए दकिन  मदहलाओों क  

आवश्यकिा हनग ? 

(1) a   (2) b 

(3) c   (4) d 

(5) e 

 

62. मात्रा I: िन लगािार दवर्म सोंख्याओों क  गुणनफल 7743 है। िन सोंख्याओों 

में बड़  सोंख्या कौन स  है? 

मात्रा II: िन सोंख्याएाँ , ि सर  सोंख्या से क्रमशः  25% और 27% से कम है। 

िूसर  सोंख्या, पहल  सोंख्या से दकिना प्रदिशि कम है? 

(1) a   (2) b 

(3) c   (4) d 

(5) e 

 

63.  A, B और C प्रते्यक 13000 रुपये का दनवेश करके एक व्यापार आरोंभ 

करिे है। 6 मह ने बाि B ने 8000 रुपये वापस ले दलया, C ने 3000 रुपये 

वापस ले दलया और A ने 7000 अदधक दमलाया। एक वर्ष के अोंि में कुल 

लाभ 148000 रुपये अदजषि हनिा है। प्रते्यक का दहस्सा ज्ञाि करें? 

(1) 66000, 36000, 46000 (2) 34000, 17000, 23000 

(3) 18000, 23000, 33000 (4) 17000, 34000, 23000 

(5) इनमें से कनई नह ों 

 

64.  यदि ि न दसके्क एक साथ उछाल दिए जािे हैं, िन क्या सोंभावना है दक 

सभ  दसक्कनों का एक ह  िेहरा (फेस) है। 

(1) 2/5   (2) 1/3 

(3) 3/4   (4) 1/5 

(5) 1/4 

 

65.  एक वसु्त क  अोंदकि मूल्य, लागि मूल्य से 50% अदधक है। यदि 

िुकानिार 10% क  छूट िेिा है और उस वसु्त क  लागि मूल्य 100 

रुपये है और वह अपने 40 वसु्त बेििा है, िन उसके द्वारा अदजषि लाभ 

ज्ञाि करें। 

(1) Rs 943  (2) Rs 1464 

(3) Rs 1400  (4) Rs 862 

(5) Rs 1214 

Reasoning Aptitude 

निरे्दश (66-70): दनम्नदलक्तखि जानकार  सावधान  से पढ़ें  और न िे दिए गए प्रश्नों का 

उत्तर िें। 

  

 िस लनग िन समाोंिर पोंक्तियनों में बारह स टनों में इस िरह से बैठे हैं दक, 

आसन्न व्यक्तियनों के ब ि समान िूर  हनि  है। प्रते्यक पोंक्ति में पाोंि लनग 

शादमल हैं। पोंक्ति 1 में, दफदलप, प टर, एलेक्स, एडम और जॉन बैठे हैं 

और उनमें से सभ  िदिण क  ओर मुख करिे हैं, और पोंक्ति 2 में, मैथू्य, 

क्तिथ, डेदवस, पॉल और मैक्स बैठे हैं और वे सभ  उत्तर क  ओर मुख 

करिे हैं। प्रते्यक पोंक्ति में एक स ट खाल  है। इसदलए, ि  गई बैठने क  

व्यवस्था में एक पोंक्ति में बैठे प्रते्यक सिस्य, िूसरे पोंक्ति के अन्य सिस्य 

क  ओर मुख करिा है। उनमें से सभ  अलग-अलग पदियनों कन पसोंि 
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करिा है जैसे ईगल, दकों ग दफशर, मनर, सारस, िनिा, मैका, गौरैया, उलू्ल, 

पेंगुइन और मुगी। 

 डेदवस, मैक्स के िाईों ओर ि सरे स्थान पर है और मैका पसोंि करिा है। 

खाल  स ट और ईगल पसोंि करने वाले व्यक्ति के ब ि केवल िन लनग 

बैठिे हैं। जॉन, उलू्ल पसोंि करिा है। जन सारस पसोंि करिा है वह मनर 

पसोंि करने वाले व्यक्ति क  ओर मुख करिा है। न िन पॉल और न ह  

मैथू्य दकस  भ  अोंदिम छनर में बैठिा है। जॉन, मैथू्य क  ओर मुख करिा 

है। खाल  स ट एक िूसरे के दवपर ि नह ों हैं, साथ ह  दकस  भ  अोंदिम 

छनर पर नह ों है। दफदलप और जॉन, जन िनिा पसोंि करने वाले व्यक्ति के 

िाय ों ओर िौथे स्थान पर बैठिा हैं, के ब ि िन स टें हैं। जन मुगी पसोंि 

करिा है वह गौरैया पसोंि करने वाले व्यक्ति क  ओर मुख करिा है। जन 

व्यक्ति सारस और उलू्ल पसोंि करिे है वें एक-िूसरे के सम प हैं। पोंक्ति 

1 में खाल  स ट, दफदलप के ित्काल पड़नस में नह ों है। मैथू्य और डेदवस 

के ब ि ि न स टें हैं। पोंक्ति 1 क  खाल  स ट, पॉल क  ओर नह ों है, 

अोंदिम छनर पर भ  नह ों बैठिा है। एडम, मुगी पसोंि करिा है। ईगल 

पसोंि करने वाला व्यक्ति, उलू्ल पसोंि करने वाले व्यक्ति क  ओर मुख 

करिा है 

 

66.  िनिे कन पसोंि करने वाले व्यक्ति के दवपर ि दिरछे कौन बैठिा है? 

(1) डेदवस   (2) प टर 

(3) मैथू्य   (4) क्तिथ   

(5) इनमे से कनई नह ों 

 

67.  पेंगुइन के सोंबोंध में दनम्नदलक्तखि में से कौन सा कथन सत्य है; यदि पेंगुइन 

पसोंि करने वाला व्यक्ति पोंक्ति 1 में बैठिा है? 

(1) जन पेंगुइन पसोंि करिा है वह प टर के बाईों ओर ि सरा बैठिा है 

(2) जन पेंगुइन पसोंि करिा है वह मुगी का दनकटिम पड़नस  नह ों है 

(3) जन पेंगुइन पसोंि करिा है वह िनिे कन पसोंि करने वाले व्यक्ति के 

ित्काल िाय ों ओर बैठिा है 

(4) जन पेंगुइन पसोंि करिा है वह पोंक्ति के अोंदिम छनर पर बैठिा है। 

(5) जन पेंगुइन पसोंि करिा है वह ईगल पसोंि करने वाले व्यक्ति क  ओर 

मुख करिा है। 

 

68.  उस व्यक्ति के िाईों ओर िूसरा कौन बैठिा है, जन पोंक्ति 2 क  खाल  स ट 

क  ओर मुख करिा है? 

(1) प टर        (2) जॉन  

(3) एडम   (4) एलेक्स 

(5) इनमें से कनई नह ों 

 

69.  दनम्नदलक्तखि में से कौन सा पि , क्तिथ पसोंि करिा है? 

(1) सारस     (2) उलू्ल 

(3) मनर   (4) गौरैया 

(5) मुगी 

 

70.  पोंक्ति 1 का िनिा, मुगी से सोंबोंदधि है, उस  प्रकार मैथू्य, पॉल से सोंबोंदधि 

है। िन, उस  पैटनष का पालन करिे हुए पोंक्ति 2 क  खाल  स ट 

दनम्नदलक्तखि में से दकस से सोंबोंदधि है? 

(1) मैक्स   (2) डेदवस 

(3) पॉल   (4) मैथू्य 

(5) इनमें से कनई नह ों 

 

71.  यदि ‘नावे’ का अथष '÷', ‘सूडान’ का अथष '+', ‘रूस’ का अथष '-' और 

‘इजराइल’ का अथष '×' है िन - 

800 नावे 400 रूस 50 इजराइल 90 सूडान 1200 = ? 

(1) 3298     (2) -3298   

(3) 3241     (4) -3241   

(5) इनमें से कनई नह ों 

 

72.  यदि सोंख्या 4567291023453 के अोंकनों कन अवरनह  क्रम में व्यवक्तस्थि 

दकया जािा है िन पुनव्यषवस्था के बाि दकिने अोंकनों के स्थान बिल जायेंगे? 

(1) एक       (2) पाोंि      

(3) िन       (4) ि न       

(5) इनमें से कनई नह  

 

73.  एक दनदिि कनड भार्ा में AFGHANISTAN 

कन  MZGHRMZSTUZ  और BAHRAIN कन MRZISZY दलखा जािा है 

िन उस  कनड भार्ा में CAMEROON कन कैसे दलखा जायेगा? 

(1) MXZNLLIV  (2) MLLVZNXI    

(3) MLILVNZX  (4) MLLIVNZX 

(5) इनमें से कनई नह ों 

 

74.  यदि शब्द AHMEDABAD में सभ  अिरनों कन अोंगे्रज  वणषमाला क्रम में 

व्यवक्तस्थि दकया जािा है िन पुनव्यषवस्था के बाि दकिने अिरनों के स्थान 

बिल जायेंगे? 

(1) िार        (2) िन      

(3) एक       (4) ि न      

(5) इनमें से कनई नह ों 

 

75.  अिरनों R, A, L, E में से प्रते्यक अिर का प्रते्यक शब्द में केवल एक बार 

प्रयनग करिे हुए अोंगे्रज  के दकिने अथषपूणष शब्द बनाये जा सकिे हैं? 

(1) कनई नह ों      (2) एक      

(3) िन       (4) ि न      

(5) ि न से अदधक 

 

निरे्दश (76-79) दनम्नदलक्तखि प्रश्नों में न िे दिए गए अनुसार दनम्नदलक्तखि अथों के साथ 

प्रि क @, #, $,% और © का उपयनग दकया जािा है: 

 

“C@D” means ‘C is not greater than D’ 

“C#D” means ‘C is neither smaller than nor equal to D’ 

“C$D” means ‘C is not smaller than D’ 

“C%D” means ‘C is neither greater than nor equal to D’ 

“C©D” means ‘C is neither smaller than nor greater than D’. 

अब दनम्नदलक्तखि प्रते्यक प्रश् में, दिए गए कथननों कन सह  मानिे हुए, यह 

पिा लगाएों  दक न िे दिए गए िन दनष्कर्ष I और II में से कौन सा दनष्कर्ष 

दनदिि रूप से सत्य है और अपना उत्तर िें। 

 

76.  कथि: A © B @ D % E @ G $ H; F % A; G © J 

निष्कर्ष: I. F % E  II. J # B 

(1) केवल दनष्कर्ष I सत्य है। (2) िनननों दनष्कर्ष I और II सत्य है। 

(3) केवल दनष्कर्ष II सत्य है। (4) या िन दनष्कर्ष I या II सत्य है। 

(5) न िन दनष्कर्ष I न II सत्य है।   

 

77.  कथि: P # Q @ R % S © T # W $ I;  K © S @ L 

निष्कर्ष: I. Q # W  II. R % L 

(1) केवल दनष्कर्ष I सत्य है। (2) िनननों दनष्कर्ष I और II सत्य है। 

(3) केवल दनष्कर्ष II सत्य है। (4) या िन दनष्कर्ष I या II सत्य है. 

(5) न िन दनष्कर्ष I न II सत्य है। 

 

78.  कथि: A © B @ D % E @ G $ H; F % A; G © J 

निष्कर्ष: I. A # B  II. D © J 

(1) केवल दनष्कर्ष I सत्य है। (2) िनननों दनष्कर्ष I और II सत्य है। 

(3) केवल दनष्कर्ष II सत्य है। (4) या िन दनष्कर्ष I या II सत्य है। 

(5) न िन दनष्कर्ष I न II सत्य है।  

 

79.  कथि: X @ Y © Z % U;    Z @ V 

निष्कर्ष: I. V # X  II. V © X 

(1) केवल दनष्कर्ष I सत्य है। (2) िनननों दनष्कर्ष I और II सत्य है।. 

(3) केवल दनष्कर्ष II सत्य है। (4) या िन दनष्कर्ष I या II सत्य है। 

(5) न िन दनष्कर्ष I न II सत्य है।  

 

निरे्दश (80-84): दनम्नदलक्तखि जानकार  सावधान  से पढ़ें  और न िे दिए गए प्रश्नों का 

उत्तर िें। 

  

 साि व्यक्ति M, P, Q, R, S, T और V अलग-अलग वजन के हैं लेदकन 

जरूर  नह ों दक उस  क्रम में हैं। 

 केवल एक व्यक्ति P और Q के ब ि है, जन M से हल्का है। S और M के 

ब ि केवल िन लनग हैं। S सबसे भार  व्यक्ति नह ों है। R से उिने ह  लनग 

भार  हैं, ज िने दक T से हल्का है। P केवल िन लनगनों क  िुलना में भार  

है। S, R और V िनननों से भार  है। िूसरा सबसे हल्का व्यक्ति 88 दकलन 

का है और S का वजन 54 दकलन है। 

 

80. R और T के ब ि दकिने लनग हैं? 

(1) एक   (2) ि न 

(3) िार   (4) िन 

(5) दनधाषररि नह ों दकया जा सकिा 

 

81.  यदि T का वजन R का 2 गुना है, िन R और S के वजन के ब ि क्या अोंिर 

हनगा? 

(1) 22 दकलन  (2) 10 दकलन 

(3) 15 दकलन  (4) 32 दकलन 

(5) इनमें से कनई नह ों 
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82.  Q से दकिने लनग भार  हैं? 

(1) कनई नह ों  (2) एक 

(3) िन   (4) ि न 

(5) िार 

 

83.  V का सोंभादवि वजन (दकलन में) दकिना हनगा? 

(1) 49   (2) 58 

(3) 62   (4) 45 

(5) 51 

 

84.  दनम्नदलक्तखि में से कौन सबसे भार  व्यक्ति है? 

(1) R   (2) V 

(3) M   (4) T 

(5) Q 

 

निरे्दश (85-87): न िे दिए गए प्रते्यक प्रश् में िन / ि न कथन दिए गए हैं और उसके 

बाि िन दनष्कर्ष I और II दिए गए हैं। आपकन दिए गए कथननों कन सत्य 

मानना है, भले ह  वे सामान्यिः  ज्ञाि िथ्यनों के साथ दविरण करिे हनों। 

सभ  दनष्कर्ों कन पढ़ें  और दफर िय करें  दक दिए गए कथननों में से कौन 

सा दनष्कर्ष दिए गए कथननों से िादकष क रूप से अनुसरण करिा है, 

आमिौर पर ज्ञाि िथ्यनों क  उपेिा करिा है। जवाब िन 

(a) यदि केवल दनष्कर्ष I अनुसरण करिा है। 

(b) यदि केवल दनष्कर्ष II अनुसरण करिा है। 

(c) यदि या िन दनष्कर्ष I या दनष्कर्ष II अनुसरण करिा है। 

(d) यदि न िन दनष्कर्ष I और न ह  दनष्कर्ष II अनुसरण करिा है। 

(e) यदि दनष्कर्ष I और दनष्कर्ष II िनननों अनुसरण करिे हैं। 

 

85.  कथि: सभ  पि  जानवर हैं, कनई पि  इोंसान नह ों है 

कुछ इोंसान स्तनधार  हैं 

निष्कर्ष: i. कुछ स्तनधार  पि  नह ों हैं 

ii. सभ  इोंसान जानवर हैं 

(1) a   (2) b 

(3) c   (4) d 

(5) e 

 

86.  कथि: सभ  पेंट ब्रश हैं,  कनई ब्रश रोंग नह ों है 

सभ  ि वार रोंग हैं 

निष्कर्ष: i. कुछ पेंट ि वार हन सकिा है 

ii. कनई रोंग पेंट नह ों है 

(1) a   (2) b 

(3) c   (4) d 

(5) e 

 

87.  कथि: कुछ फूल फल है। कनई फल ब ज नह ों है। 

 सभ  ब ज पौधे है। 

निष्कर्ष: i. कनई पौघे फूल नह ों है।  

ii. सभ  पौधनों क  फल हनने क  सम्भावना है। 

(1) a   (2) b 

(3) c   (4) d 

(5) e 

 

निरे्दश (88-90): दनम्नदलक्तखि जानकार  सावधान  से पढ़ें  और न िे दिए गए प्रश्नों का 

उत्तर िें। 

 

 ि न अलग-अलग प दढ़यनों में ि न दववादहि जनड़नों वाले पररवार में आठ 

व्यक्ति हैं। K, P क  एकमात् बेट  है। V, M का िामाि हैं। T, G का दपिा 

है। R, G के नाना हैं। R, V का दपिा हैं। M का केवल एक बच्चा है और S 

क  माों नह ों है। S, K क  भाभ /ननि है। P, R से दववादहि है। G, V का 

भि जा/भाोंजा है। 

 

88.  यदि 'X', S क  बेट  है, िन G, X से कैसे सोंबोंदधि है? 

(1) कदजन   (2) भि जा/भाोंजा 

(3) भि ज /भाोंज   (4) भाई 

(5) बहन 

 

89.  P, S से कैसे सोंबोंदधि है? 

(1) बहन   (2) बहू 

(3) कदजन   (4) सास 

(5) िाि  

 

 

90.  पररवार में दकिने पुरुर् हैं? 

 (1) िार   (2) ि न 

 (3) पााँि   (4) छह 

 (5) दनधाषररि नह ों दकया जा सकिा 

 

91.  ‘FREQUENCY’ शब्द में अिरनों के ऐसे दकिने जनड़े हैं, दजनके ब ि 

 उिने ह  अिर है ज िने दक अोंगे्रज  वणषमाला श्ररोंखला में उनके ब ि 

 हनिे हैं? 

 (1) छह   (2) ि न 

 (3) िार   (4) िन 

 (5) पााँि 

 

92.  ‘COMPLAINTS’ शब्द में, यदि शब्द में सभ  अिरनों कन अोंगे्रज  वणषमाला 

क्रम में बाएों  से िाएों  आरनह  क्रम में व्यवक्तस्थि दकया गया है। िन, शब्द में 

दकिने अिर मूल शब्द के समान क्तस्थदि में रहिे हैं? 

(1) कनई नह ों  (2) एक 

(3) िन   (4) ि न 

(5) ि न से अदधक 

 

निरे्दश (93-97): दनम्नदलक्तखि जानकार  सावधान  से पढ़ें  और न िे दिए गए प्रश्नों का 

उत्तर िें। 

 

 कुछ लनग स ध  रेखा में बैठे हैं और वे सभ  उत्तर क  ओर मुख करिे हैं। 

K, T के बाईों ओर पाोंिवें स्थान पर बैठा है। T और Q के ब ि िन लनग बैठे 

हैं। F, W के िाईों ओर आठवें स्थान पर बैठिा है, जन T का दनकटिम 

पड़नस  है। W के बाईों ओर िार से अदधक लनग नह ों बैठे हैं। पाोंि लनग Q 

और S के ब ि बैठे हैं, जन रेखा के अोंदिम दसरनों में से एक पर बैठिा हैं। 

 

93.  F के िाईों ओर दकिने लनग बैठे हैं? 

(1) पााँि    (2) एक 

(3) िन   (4) ि न 

(5) इनमें से कनई नह ों  

 

94.  दनम्नदलक्तखि में से कौन सा पोंक्ति के अोंदिम बाएों  छनर पर बैठिा है? 

(1) T   (2) W 

(3) Q   (4) F 

(5) K 

 

95.  दनम्नदलक्तखि में से कौन सा F के बाईों ओर 8 वें स्थान पर बैठिा है? 

(1) S   (2) W 

(3) K   (4) T 

(5) Q 

 

96.  यदि M, Q के िाईों ओर िूसरे स्थान पर बैठा है, िन F के सोंबोंध में M क  

क्तस्थदि क्या हनग ? 

(1) िाईों ओर िूसरा  (2) बाईों ओर िूसरा 

(3) िुरोंि बाएों   (4) िाईों ओर ि सरा 

(5) बाईों ओर िौथा 

 

97.  पोंक्ति में दकिने लनग बैठे हैं? 

(1) 14   (2) 12 

(3) 18   (4) 15 

(5) 13 

 

98.  47 छात्नों क  एक किा में, अदनल श र्ष से 27 वाों स्थान पर है और मुकुल 

न िे से 35 वाों स्थान पर है। िन, अदनल और मुकुल के ब ि दकिने छात् 

है? 

(1) 14   (2) 12 

(3) 21   (4) 13 

(5) 15 

 

निरे्दश (99-100): दनम्नदलक्तखि जानकार  सावधान  से पढ़ें  और न िे दिए गए प्रश्नों 

का उत्तर िें। 

 

अमल दबोंिु T से उत्तर क  िरफ 3 दकम  िलिा है और दबोंिु M िक 

पहुोंििा है। दबोंिु M से वह िायें मुड़िा है और दबोंिु B िक पहुोंिने के दलए 

9 दकम  िलिा है। दफर वह दबोंिु B से दबोंिु S िक पहुोंिने के दलए िदिण 

क  ओर 5 दकम  िलिा है। दबोंिु S से वह पदिम क  ओर 7 दकम  िलकर 

दबोंिु J िक पहुोंििा है। उसके बाि उसने बाएों  मनड़ दलया और दबोंिु D 

िक पहुोंिने के दलए 6 दकम  िलिा है। अोंििः  वह दबोंिु P िक पहुाँिने के 

दलए पदिम क  ओर 2 दकम  िलिा है। 
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99.  शुरुआि  दबोंिु और दबोंिु P के ब ि सबसे छनट  िूर  क्या है? 

(1) 7.5 दकम   (2) 2√2 दकम  

(3) 9 दकम    (4) 8√2 दकम  

(5) 8 दकम  

 

100.  दबोंिु B के सोंबोंध में दबोंिु D दकस दिशा में है? 

(1) िदिण   (2) िदिण-पदिम 

(3) उत्तर-पूवष  (4) िदिण-पूवष 

(5) उत्तर  
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English Language 

Ans.1(3) According to the sentence “bilateral” will be used 
 as it means “two-sided”. 
Ans.2(2) According to the sentence “withdraw” will be 
 used as it means “remove / take away”. 
Ans.3(4) According to the sentence “was” will be used as 
 the sentence is based on past. 
Ans.4(3) According to the sentence “line” will be used as 
 the meaning of the phrase “on the line” is “at 
 risk”. 
Ans.5(4) According to the sentence “issued” will be used 
 as the meaning of “issue” is “hand out/ give out”. 
Ans.6(4) According to the sentence “extend” will be used 
 as it means “continue / stretch/go on”. 
Ans.7(1) According to the sentence “operated” will be 
 used as the meaning of “operate” is “function / 
 work” 
Ans.8(3) According to the sentence “intervention” will be 
 used as it means “interference”. 
Ans.9(1) According to the sentences “admitted” will be 
 used as the meaning of “admit” is “confess”. 
Ans.10(4) According to the sentence “pursued” will be 
 used as the meaning of “pursue” is “follow”. 
Ans.11(3) It is clearly mentioned in the passage that the 
 economic policies of the British Raj caused a 
 severe decline in the handicrafts and handloom 
 sectors, due to reduced demand and dipping 
 employment. 
Ans.12(4) In the passage it has been clearly mentioned 
 that under British rule, India's share of the world 
 economy declined from 24.4% in 1700 down to 
 4.2% in 1950. 
Ans.13(2) It has been clearly said that urbanization 
 generally remained sluggish in British India until 
 the 1920s, due to the lack of industrialization 
 and absence of adequate transportation. 
Ans.14(3) Meaning of the word “impoverishment” is misery 
 / insolvency / poverty 
Ans.15(4) Meaning of the word, “sluggish” lethargic / 
 indolent / slow 
Ans.16(1) Opposite meaning of the word “captive” is, free / 
 let loose / unlocked 
Ans.17(2) In the last paragraph of the passage it is clearly 
 mentioned that Steel, mining, machine tools, 
 telecommunications, insurance, and power 
 plants, among other industries, were effectively 
 nationalized in the mid-1950s 
Ans.18(4) It is clearly said in the second paragraph that 
 Urbanization generally remained sluggish in 
 British India until the 1920s due to the lack of 
 industrialization and absence of adequate 
 transportation 
Ans.19(4) It is clearly stated in the 2nd paragraph in the 
 passage that it also established a system of 
 railways and telegraphs, a civil service that 
 aimed to be free from political interference, a 
 common-law and an adversarial legal system. 
Ans.20(2) Opposite meaning of the word, “coincided” is, 
 disagree / diverge / deviate 
Ans.21(5) The arrangement is EHADFBGC 
Ans.22(2) The arrangement is EHADFBGC 
Ans.23(4) The arrangement is EHADFBGC 
Ans.24(3) The arrangement is EHADFBGC 
Ans.25(2) The arrangement is EHADFBGC 
Ans.26(5) Meaning of the word ‘augur’ is- portend / foretell/ 
 herald 
Ans.27(3) Meaning of the word unequivocal is – obvious / 
 apparent / and opposite is obscure 
Ans.28(2) The meaning of the word benign is, gentle, kind, 
 benevolent and opposite is malignant 
Ans.29(4) Meaning of the word mandate is- permission, / 
 order / directive 

Ans.30(1) Meaning of the word “ tweak” is pull, force, press 
and the opposites –push/  refrain, 

HINDI 

Ans.1(2) le;  

Ans.2(1) vius dk;Z esa vlQyrk  

Ans.3(2) lQyrk   

Ans.4(3) mi;qZDr nksuksa   

Ans.5(1) le; dk lnqi;ksx  

Ans.6(3) fo”ks’k.k os “kCn gksrs gSa tks laKk ,oa loZuke “kCnksa dh 

fo”ks’krk crkrs gSa] tSls u;k] iqjkuk] egku~] dq”ky] prqj 

,oa tSlk vkfn “kCn fo”ks’k.k gSaA ^y{e.k ,d dq”ky 

dk;ZdÙkkZ gSA* okD; esa y{e.k ds fy, ^dq”ky* fo”kss’k.k 

dk iz;ksx gqvk gSA 

Ans.7(2) Hkko ,oa fopkjksa dh fyf[kr vfHkO;fDr ^fyfi* gksrh gSA 

Hkk’kk JO; gksrh gS tcfd fyfi n”̀; gksrh gSA fgUnh 

Hkk’kk ds fy, nsoukxjh fyfi dk iz;ksx fd;k tkrk gSA 

izkdf̀r vkSj ikyh Hkk’kk;sa gSaA 

Ans.8(1) fuokZflr “kCn ^br* izR;; ls feydj cuk gS tcfd 

^flr* dksbZ izR;; ugha gSA ^bd* izR;; ls cuus okys 

“kCn gSa& ekSfyd] nSfod] ,sfgd] ,sfgd] nSfgd ,oa 

ikf{kd vkfnA 

Ans.9(1) rkyO; o.kZ rkyq LFkku ls cksys tkrs gSa] ;s fuEu gSa& b] 

bZ] p] N] t] >] ¥] ;] “kA ukflD; o.kZ gSa& va] M] 

¥] .k] u] eA bl izdkj ls ^¥* ukflD; ,oa rkykO; 

nksuksa gSaA 

Ans.10(4) fn, x, fodYiksa esa ^yksVk* :<+ “kCn gS D;ksafd blds 

lkFkZd [kaM ugha gks ldrs gSaA ^yacksnj* ;ksx:<+ “kCn gS 

tcfd nw/kokyk ,oa ?kqMlky ;kSfxd “kCn gSaA  

Ans.11(3) ^iq’i* rRle “kCn gSA ^Qwy* rn~Hko “kCn gS bldk 

rRle ^QqYy* gksxkA xsank ,d Qwy dk uke gS] xqykc 

Qkjlh Hkk’kk dk “kCn gSA 

Ans.12(1) ^vJq* rRle “kCn gS bldk rn~Hko vk¡lw gksxkA ^dku* 

¼rn~Hko½ dk rRle d.kZ gksxka jsfM;ksa vaxzsth Hkk’kk dk 

“kCn “kCn gSA 

Ans.13(2) vke dk rRle ^vkez* gksxk ^vkst* rRle “kCn gSA 

^diwj* dk rRle ^diwZj* gksxkA 

Ans.14(2) ^eSaus dgk dqN vkSj] mlus lquk dqN vkSjA* ;g okD; 

^la;qDr okD;* dk mnkgj.k gSA 

Ans.15(3) ^O;ogkj esa og fcYdqy oSlk gh gS tSls mlds firkthA* 

okD; ^feJ okD;* gSA 

Ans.16(2) okD;] ^lrlax djksa;] lnkpkjh cuksaA* ^vkKkokpd 

okD; * gSA ftl okD;ksa ls bPNk] “kqHkdkeuk vkfn dk 

Kku gks] ^bPNkokpd okD;* gksrs gSa] tSls ^rqEgkjk 

dY;k.k* gksA 

Ans.17(2) ^vkdfLed* “kCn “kq) orZuh :i gSa] bldk vFkZ 

^;dk;d gksus okyh dksbZ ?kVuk gSA* 

Ans.18(4) ^HkkxhjFkh* “kCn “kq) :i gS] ;g “kCn ^xaxk* dk i;kZai 

gSA 

Ans.19(3) ^dk;Z”khy* “kCn “kq) orZuh :i gSA 

Ans.20(3) ^egksnf/k* xq.k lfU/k gS] bldk lfU/k foPNsN 

^egk$mnf/k* gSA 

Ans.21(2) ^o/okxeu* ;.k~ lfU/k gS] bldk lfU/k foPNsn ^o/kw 

$vkxeu* gSA 

Ans.22(3) ^fgeky;* nh?kZ Loj lfaU/k gS] bldk lfU/k foPNsn ^fge 

$ vky;* gSA 

Ans.23(3) ^bdrhl* vFkkZr~ ^,d vkSj rhl* ^}U}* lekl gSA 

Ans.24(3) ^l)eZ* vFkkZr~ lr~ gS tks /keZ] ^deZ/kkj;* lekl gSA 

Ans.25(4) ^pkSjkgk* vFkkZr~ ^pkj jkgksa dk lewg* ;gk¡ pkj 

la[;kokpd fo”ks’k.k gS] pkSjkgk ^f}xq* lekl gSA 

Ans.26(2) ^niZ* dk i;kZ; ^vgadkj* gSA 

Ans.27(3) ^?ku”;ke* dk vFkZ dkyk ckny gS] bldk nwljk vFkZ 

^d̀’.k* gSA 
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Ans.28(2) ^vfuy* dk i;kZ; ^iou*] lehj] ek:r] gok] ,oa ok;q gS 

tcfd ^vuy* vfXu dk i;kZ; gSA 

Ans.29(3) ^lqjlfj* “kCn dk vFkZ ^tkgoh* gSA ^lIrdh* dk vFkZ 

^lIr Lojokyh* ls gSA 

Ans.30(3) ^izLFkku* dk lekukFkhZ “kCn ^iz;k.k* gS ,oa ^izek.k* dk 

lekukFkhZ “kCn ^lk{;* ;k ^lcwr* gSA 

Quantitative Aptitude 

Ans.31(3) 

Ans.32(4) 30×1=30 

  30×1.5=45 

 45×2=90 

 90×2.5=225 

 225×3=675 

Ans.33(1) -13, -23, -33, -43, -53 

Ans.34(2) +46, +92, +184, +368, +736 

Ans.35(4) -122, -102, -82, -62, -42 

Ans.36(1) ? का 3/8 का 5/6 का 2/7 =790 

 ?=790×(8/3)×(6/5)×(7/2) 

 = 79×8×2×7 

 = 8848 

Ans.37(2) = (550 का 140%)+(400 का 12.5%)+(306 का 33.33%) 

 = 770+50+102 

 = 820+102=922 

Ans.38(1) =√5929+√3364+√4761 

 =77+58+69=204 

Ans.39(2) √676 का ?/10 = √64 का 130/? 

 26 का x/10 = 8 का 130/x 

 x2 = 400 

 x=20 

Ans.40(2) (762÷3)×(80 का 120%)+2116=? 

 ?= (762÷3)×(80 का 120%)+2116 

 ?=254×96+2116=26500 

Ans.41(4) = 4898-6234+5325-1294 

 = 4898+5325-6234-1294 

 = 10223-7528 

 = 2695 

Ans.42(4) ? = (280 का 20%)+(√729×9)+123 

 ?= 56 + 243 + 123 

 ?= 422 

Ans.43(3)   D की जनसंख्या = 64.8 लाख 

 ग्रामीण जनसंख्या = 26% × 64.8 लाख = 16.85 लाख 

  E की जनसंख्या = 48.3 लाख 

 ग्रामीण जनसंख्या = 24% × 48.3 लाख = 11.6 लाख 

 D एवं E की कुल ग्रामीण जनसंख्या = 16.85 + 11.6 लाख  

 = 28.45 लाख 

Ans.44(4)   A की जनसंख्या = 87.6 लाख 

 ग्रामीण जनसंख्या = 40% × 87.6 = 35.04 लाख 

 B की जनसंख्या = 78.4 लाख 

 ग्रामीण जनसंख्या = 32% × 78.4 = 25.08 लाख 

 C की जनसंख्या = 72.4 लाख 

 ग्रामीण जनसंख्या = 25% × 72.4 = 18.1 लाख 

 D की जनसंख्या = 64.8 लाख 

 ग्रामीण जनसंख्या = 26% × 64.8 लाख = 16.85 लाख 

 E की जनसंख्या = 48.3 लाख 

 ग्रामीण जनसंख्या = 24% × 48.3 लाख = 11.6 लाख 

 F की जनसंख्या = 28.2 लाख 

 ग्रामीण जनसंख्या = 20% × 28.2 लाख = 5.64 लाख 

 G की जनसंख्या = 22.2 लाख 

 ग्रामीण जनसंख्या = 15% × 22.2 लाख = 3.33 लाख 

 इस प्रकार, A की ग्रामीण जनसंख्या सवााधिक है| 

Ans.45(2)   शहर A की कुल जनसंख्या = 87.6 लाख 

 ग्रामीण जनसंख्या = 40% 

 ग्रामीण जनसंख्या = 40/100 × 87.6 = 35.04 ≈ 35 लाख 

Ans.46(4)   वर्ा 2011 में, 

 G की जनसंख्या = 22.2 लाख 

 ग्रामीण जनसंख्या = 15% × 22.2 लाख = 3.33 लाख 

 F की जनसंख्या = 28.2 लाख 

 ग्रामीण जनसंख्या = 20% × 28.2 lakh = 5.64 लाख 

 अंतर = 2.31 लाख 

Ans.47(3)   हमारे पास है, 

 B की जनसंख्या = 78.4 लाख 

 ग्रामीण जनसंख्या = 32% × 78.4 = 25.08 लाख ≈ 25.1 लाख 

Ans.48(1) 32.123×41.98×23.9=? 

 ?=32×42×24 

 ?=32256 

Ans.49(3) (9/3)+ (5/27) + (3/243) + (7/9)=? 

 ?=(243+15+1+63)/81 

 ?=322/81 

 ?=4 

Ans.50(3) 353.02×1.93-242.34+(565/5)+130.923=? 

 706-242+113+131=? 

 ?=708 

Ans.51(2) ?= (1298 का 16.6%)-(898 का 10.8%) 

 ? =17/100 ×1300 – 11/100 ×900 

 ? =221 - 99 

 ?=122 

Ans.52(2) ?=34.867-15.975-8.1491-1.543 

 ?=35-16-8-2 

 ?=35-26 

 ?=9 

Ans.53(4) धकसी के भी नही ंचुने जाने की संभावना = (3/5)×(1/6)×(3/7) 

 =3/70 

 इसधलए अधभष्ठ संभावना = 1- (3/70) 

 = 67/70 

Ans.54(4) माना धक प्रभु, सासी और गोकुल का वेतन क्रमश: 5x, 6x और 7x 

 है। 

 प्रभु की बचत = 5x × (75/100) = 3.75x 

 माना धक प्रभु, सासी और गोकुल की बचत क्रमशः  3y, 3y और 2y 

 है। 

 लेधकन हमारे पास, 3y = 3.75x है 

 y = 1.25x 

 इसधलए अधभष्ठ प्रधतशत = [(7x-2y) 7x] × 100 

 = [(7x -2 (1.25x)) 7x] × 100 = 64.28% 

Ans.55(3) पेन की कुल संख्या =80×(80 का 15%) + 5×(80 का 20%) 

 = 80×12+5×16 = 1040 

Ans.56(2) िारा के साथ(अनुप्रवाह) गधत = शांत जल में गधत + िारा की 

 गधत 

 = 8+4=12 धकमी/घंटा 

Ans.57(2)  (4x+12)/(5x+12) = 7/8 

 32x+96=35x+84 

 3x=12 

 X=4 

 उनके आयु का अंतर = (5x-4x) = x = 4 वर्ा 

Ans.58(5) मात्रा I: 

 16P-P=(P×6×R)/100 

 15P=6PR/100 

 R=250 

 मात्रा II: 

 SI=(1250×10×2)/100 

 SI=250 

 मात्रा I = मात्रा II 

Ans.59(1) मात्रा I: 

 X×(110/100)×(125/100) = 550 

 X= 400 रुपये 

 मात्रा II: 

 X×(118/100) – X×(88/100) = 90 

 30X/100=90 

 X=300 

 मात्रा II < मात्रा I 

Ans.60(3) मात्रा I: 

 =1:6 

 20 रुपये/धकलो की मात्रा =12×1/6=2 धकलो 

 मात्रा II: 
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 आरंभ में, दूि =90×(88/100)=79.2 

 पानी=90×(12/100)=10.8 

 (79.2/(10.8+x))=72/28 

 79.2×28=72(10.8+x) 

 X=20 लीटर 

 मात्रा II> मात्रा I 

Ans.61(3) मात्रा I: 

 14×6=42×X 

 X=2 

 मात्रा II: 

 70×30=50×X 

 X=42 

 मात्रा II > मात्रा I 

Ans.62(1) मात्रा I: 

 x(x+2)=7743 

 x2+2x-7743=0 

 x2+89x-87x-7743=0 

 x(x+89)-87(x+89)=0 

 (x-87)(x+89)=0 

 X=87, -89 

 याधन) x=87 

 बड़ी धवर्म संख्या =x+2=89. 

 मात्रा II: 

 माना धक तीसरी संख्या 100 है 

 तो पहली संख्या 75 है और दूसरी संख्या 73 है। 

 प्रधतशत =(75-73)/75×100 

 = 2/75×100 

 = 8/3 

 मात्रा I > मात्रा II 

Ans.63(1) = ((13000×6)+(20000×6)):((13000×6)+ 

 (5000×6)):((13000×6)+(10000×6)) 

 = (78000+120000):(78000+30000):(78000+60000) 

 = 198000:108000:138000 

 = 33:18:23 

 कुल लाभ =148000 

 A का धहस्सा = (33×148000)/74=66000 

 B का धहस्सा = (18×148000)/74=36000 

 C का धहस्सा = (23×148000)/74=46000 

Ans.64(5) कुल पररणाम = 8 

 तो अनुकूल पररणाम = {TTT, HHH} 

 = 2 

 इसधलए अधभष्ठ संभावना = 2/8 = 1/4 

Ans.65(3) माना लागत मूल्य =100 

 तब अंधकत मूल्य =150 

 अब धवक्रय मूल्य =(90/100)×150 

 =135 

 इसधलए लाभ प्रधतशत = 35% 

 इसधलए अधभष्ठ राधश = 100× 40 × 35/100 

 = 1400 रुपये 

Reasoning Aptitude 

Ans.(66-70): 

  
Ans.66(4) 
Ans.67(3) 
Ans.68(5) 
Ans.69(3) 
Ans.70(5) 

Ans.71(2) 800 Norway 400 Russia 50 Israel 90 Sudan 1200 

 = 800 ÷ 400 - 50 × 90 + 1200 

 = 2 - 4500 + 1200 

  = 1202 - 4500 

  = - 3298 

Ans.72(5) 

  
Ans.73(4) 

  
Ans.74(5) A  H  M  E  D  A  B  A  D 
 A  A   A  B  D  D  E  H  M 
Ans.75(3)     Real, Earl 
Ans.(76-79): 

  
Ans.76(2) A = B ≤ D < E ≤ G ≥ H; F < A; G = J 

  I. F < E -> सत्य (F<A =B ≤ D< E ≤ G ≥ H) 

 II. J>B -> सत्य (B ≤ D < E ≤ G = J) 

Ans.77(3) P > Q ≤ R < S = T > W ≥ I;    K = S ≤ L 

  I. Q>W -> असत्य (Q ≤ R < S = T > W) 

 II. R<L ->सत्य (R<S ≤ L) 

Ans.78(5) A = B ≤ D < E ≤ G ≥ H; F < A; G = J 

  I. A > B -> असत्य (A = B) 

 II. D = J -> असत्य (D < E ≤ G = J) 

Ans.79(4) X ≤ Y = Z < U;           Z ≤ V 

  I. V>X -> असत्य (X ≤ Y = Z ≤ V) 

 II. V=X -> असत्य (X ≤ Y = Z ≤ V) 

 लेधकन दोनो ं धनष्कर्ा I & II, V≥X के रूप में एक पूरक जोड़ी 

 बनाती है। तो, या तो धनष्कर्ा I या II सत्य है। 

Ans.(80-84): V <  R < P  < S (54) < Q < T (88) < M 
Ans.80(2)  
Ans.81(2) 
Ans.82(3) 
Ans.83(4) 
Ans.84(3) 
Ans.85(1) 

  
Ans.86(2) 

   
Ans.87(4) 

  
Ans.(88-90): 

  
Ans.88(1) 
Ans.89(4) 
Ans.90(3) 
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Ans.91(5) 

  
Ans.92(1) 

  
Ans.(93-97): 

  
Ans.93(5) 
Ans.94(5) 
Ans.95(2) 
Ans.96(2) 
Ans.97(4) 

Ans.98(4) अधनल नीचे से 21 वां स्थान पर है। 

 अधनल और मुकुल के बीच छात्रो ंकी संख्या = 35-21-1= 13. 

Ans.(99-100): 

  
Ans.99(5) 
Ans.100(2) 
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